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Question Id : 42558910883 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

Study the table given below and answer the questions :

The table gives attendance of employees (number of employees present) on five week days in five
offices, namely, A, B,C, D and E :

P Number of employees present in offices

A B C D E
Monday 139 147 211 141 184
Tuesday 141 189 164 189 151
Wednesday 115 141 159 156 136
Thursday 89 223 120 147 113
Friday 187 93 257 160 124

Sub questions

Question Number : 1 Question Id : 42558910884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the difference between total number of employees present in offices C and D together on
Tuesday and total number of employees present in offices A and E together on Thursday ?

1) 147

@ 271
@) 151
@ 171

Options :

42558942356. 1
42558942357.2
42558942358. 3
42558942359. 4

Question Number : 2 Question Id : 42558910885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the respective ratio between total number of employees present in office B on Wednesday
and Thursday together and total number of employees present in office C on Monday and Friday
together ?

L 11:13
@ 9:11
@) 7:9
@ 7:11

Options :

42558942360. 1
42558942361.2
42558942362. 3
42558942363. 4

Question Number : 3 Question Id : 42558910886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The number of employees present in office E on Monday is what precent more than the number of
employees present in office C on Thursday ?

(1) 34.78%
@) 21.05%
(B) 55.25%
@) 53.33%

Options :

42558942364. 1

42558942365. 2

42558942366. 3
42558942367. 4

Question Number : 4 Question Id : 42558910887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the average number of employees present in office B on Monday, Tuesday and Friday ?
(1) 143

@ 159
(@) 153
@ 173

Options :

42558942368. 1
42558942369. 2
42558942370. 3
42558942371. 4

Question Number : 5 Question Id : 42558910888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The number of employees present in office A on Wednesday is what percent of the number of
employees present in office D on Friday ?

7
139—
(1) =
2) 7’1z
8
2
63—
() 633
2
| 1=
@ 613
Options :

42558942372. 1
42558942373.2
42558942374. 3
42558942375. 4



Question Id : 42558910883 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

et <t E AfeTeRt ST AT THITTU AT WIT T ST ST |
qie FHE A, B, C, D SR E | 99 % 94 feii =1 =it =6 suferfa (sufeem wd=nfdi =6 9@)
aifererT 5 <1 7T €

for FETADT § IURTT HHATET hl TE&IT
A B ¢ D E
fraa 139 147 211 141 184
o 141 189 164 189 151
AR 115 141 159 156 136
— 89 223 120 147 113
S 187 93 257 160 124

Sub questions

Question Number : 1 Question Id : 42558910884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HIETER &l SEerdl C 3R D Sl @l fietre 3ufeea swH=nfidl i el &1 31T TEaR &l FEed A 3
E S =1 fyemer 3uftaa swr=nfidi &t a1 den § ffan sfae e ?

(1) 147
2 271
(3) 151
@ 171
Options :

42558942356. 1
42558942357.2
42558942358. 3
42558942359. 4

Question Number : 2 Question Id : 42558910885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
YA ST TEAR 1 s Faied B H Iqfted FH=nfd] # Fa Ge i GHan st yewan #1 faers
e C H Sufterd wH=El &1 a1 & H A% 1 379 ¢ ?

(1) 11:13
2 9:11
(B) 7:9
(@ 7:11
Options :

42558942360. 1
42558942361.2
42558942362. 3
42558942363. 4

Question Number : 3 Question Id : 42558910886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HHaR i FwEed E H 3UMd FHAEl sl G TEaR &l wEied C H 3uftyd wH=nmdl & 9= §
feperen wfaer sifies €7
(1) 34.78%

(2) 21.05%

(3) 55.25%

() 53.33%
Options :

42558942364. 1
42558942365.2
42558942366. 3
42558942367. 4

Question Number : 4 Question Id : 42558910887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Trar, HTeeR SR YR i SrEerd B 1 Sufted wH=ii #t e e e g ?

(1) 143
(2) 159
() 153
@) 173

Options :

42558942368. 1
42558942369. 2
42558942370. 3
42558942371. 4

Question Number : 5 Question Id : 42558910888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AR I FEGd A H UM FHANE! 1 G&A1 Yool &l FEerd D H Ueed FHAEl 51 5@ #
fopen e &2

_ 7
(1) 139§

7
@ g

2
(3 63
@ 613

Options :

42558942372 1

42558942373.2

42558942374. 3

42558942375. 4

Sub-Section Number : 2
Sub-Section Id : 425589432
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 42558910889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the experiment of determining better “Yoga Exercise” out of two that can reduce the fat of urban
people of different age groups, which of the following is an intervening variable ?

(1) Area

(2) Yoga Exercise

(3) Food habit

(4) Fatof the people

Options :

42558942376. 1

42558942377.2

42558942378. 3
42558942379. 4

Question Number : 6 Question Id : 42558910889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U AT Y S-S ST WHE o Vel Gl o1 HIeT S € Hehdl €, ST 9 sIedd ARy &
sauRon fuifia R F wam ¥ frefatas § § 70 exay ofed 22

(1) &

(2) drmETE

(3) @WHIH

(4) @I 1 HE=Z

Options :

42558942376. 1
42558942377.2
42558942378. 3
42558942379. 4

Question Number : 7 Question Id : 42558910890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Arrange the following from higher level to lower level of scales of measurement involved in them :

A, Researcher divides the sample in two groups based on area of residence like ‘Urban’ and 'Rural’
Area.

B. A student has got 50 marks out of 60 marks in English language test.

C. A cicketer is given tenth rank as an allrounder.

D.  The height of a particular building is double than all other buildings in a street.
Choose the correct answer from the options given below :

() D.CBA

20 ABDC

3) C,BAD

4 D,BCA

Options :

42558942380. 1
42558942381.2
42558942382. 3
42558942383. 4



Question Number : 7 Question Id : 42558910890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freferfaa =1 39 iaf a9 &% TH & eI TR | Aal T HH H et #ifer |

A, INUE IR ST A0 A S e A9 SR W 9ieyl # el § Ay wa e
B.  Torwil Tammefl =t oISt s % witemor § % 60 37 H ¥ 50 2FF U g L |

C. fordt forere faamet =t siferiset 3 w9 ¥ gwar Yo fean man €

D. e oo fade =1 S well & o= welt vaHi H SerE # SR €

T feu o fasedi § | WE W A |

(1) D,CB,A

B3 ABDE

(3) C,B,A D

(4 D,BC A

Options :

42558942380. 1
42558942381.2
42558942382. 3
42558942383. 4

Question Number : 8 Question Id : 42558910891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors affect the internal validity of an experimental research ?
Placebo effect

Instrument Decay

Contemporary events

Hawthorne effect

moN®p

Bias in selecting subjects in sample
Choose the most appropriate answer from the options given below :
(1) B,CandE Only
(2) B,Cand D Only
(3) A CandD Only
(4) C, DandE Only
Options :
42558942384. 1
42558942385.2

42558942386. 3
42558942387. 4



Question Number : 8 Question Id : 42558910891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafiaa § @ & W H10F YEITF M i SAaies Suar i gafed w5 82

A, TIHE GYE

B.  3YH F & B

C. THHEAM T2

D. @M gvE

E.  wfaed & faudl & == # qaiue (efmfa)
= feu U o § | W 3 A
(1) o9 B, C 3iRE

(2) %aA B, C 3R D

(3) ad A, C SRD

(4) oA C, D 3RE

Options :

42558942384. 1
42558942385.2
42558942386. 3
42558942387. 4

Question Number : 9 Question Id : 42558910892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following programmes/software can be used for quantitative data analysis ?

A.  MSWORD

B. MSPOWERPOINT
C. MSEXCEL

D. MSACCESS

E. SPS5

Choose the most appropriate answer from the options given below :
(1) A, C,DandBOnly

(20 A, DandE Only

(3) C DandE Only

(4) B,DandE Only

Options :

42558942388. 1

42558942389. 2

42558942390. 3
42558942391. 4



Question Number : 9 Question Id : 42558910892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT < faveran & fau frefafes § 9 #9699/ 9eam ugwE 8 9 © 2
A, TATHTE

TH TH T @

TH T T

TH U U

. W

= fau o fawedl § 9 waifies Suge 3w 1 |

(1) %ad A, C, D 3B

m o0

(2) %Had A, D SRE

(3) oaa C, D 3RE

(4) °ad B, D #RE
Options :

42558942388. 1
42558942389. 2
42558942390. 3
42558942391. 4

Question Number : 10 Question Id : 42558910893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - IT :

List - 1 List - 11
A.  Mann Whiteny L. Product Moment method of correlation
B. Kendall II.  Test of homogeneity of variances
C.  Bartlett II. U Test
D. Karl Pearson IV. Tau Test

Choose the correct answer from the options given below :
(1) A-II, B-II, C-1IV, D-1

(2) A-IV, B-1IL, CI, DI

(3) A-I, B-1V, CI, D-I

4) A-IV,B-L C-II, D-II

Options :

42558942392. 1

42558942393. 2

42558942394. 3
42558942395. 4



Question Number : 10 Question Id : 42558910893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gt - 1 1 g - 1 gifed
Tt -1 Tt - 11

A, 9 e [ HeHaY & [OH-30 (dres-ae) fafy
B. e [ YOO 1 FHETET 1 aieor

C. @réee ML g e

D. @ 9IEa IV. 28 9l&o

= feu o faredi ® ¥ W& ST T |

(1) A-II, B-IL C-1V, D-1
)} A-IV, B-IlI, C-11, D-1

(3) Al B-1V, C-1I, D-1
) A-IV, B-I, C-II, D-II

Options :

42558942392. 1

42558942393. 2

42558942394. 3
42558942395. 4

Question Number : 11 Question Id : 42558910894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following programmes of UGC is not related to promotion of value and ethical
practices ?

(1) Jeevan Kaushal

(2) CARE

(3)  Mulya Pravah

(4) National Resource Centre for Value Education (NRCVE)

Options :

42558942396. 1

42558942397.2

42558942398. 3
42558942399. 4

Question Number : 11 Question Id : 42558910894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa § 4 favafagared sM <€ 1 6F 91 ST T IR A= sl & gada 9 gefia
T €2

(1)  Sfred Fe

(2) FW

(3) WA HAE

(4) U gog faen gurE FE (T AR 9 A4 )

Options :

42558942396. 1
42558942397. 2
42558942398. 3
42558942399. 4



Question Number : 12 Question Id : 42558910895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For the purpose of systematically fostering the culture of innovation in all HEIs, when did ministry
of Education establish ‘Innovation Cell’ ?

(1) 2016
@) 2018
(3) 2019
@) 2020
Options :

42558942400. 1
42558942401. 2
42558942402. 3
42558942403. 4

Question Number : 12 Question Id : 42558910895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

asft ToaaT foreror e # gegaftaa w9 H 61y &1 GEkfa @ aeren oF & yaeme e e 1wy
a9 FAHY YRy whi T 2

(1) 2016
(2) 2018
(3) 2019
(4) 2020
Options :

42558942400. 1
42558942401. 2
42558942402. 3
42558942403. 4

Question Number : 13 Question Id : 42558910896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following commissions/committees (in field of education) in chronological order :
GNANAM Committee

Kothari Commission

National Knowledge Commission

MUDALIAR Commission

Yashpal Committe (Advice on Renovation and Rejuvenation of Higher Education)

mONwp

Choose the correct answer from the options given below :
(y D,ACEB

2y BDCEA

3} B.D.A,CE

4 D,BACE

Options :

42558942404. 1

42558942405. 2

42558942406. 3
42558942407. 4



Question Number : 13 Question Id : 42558910896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Torat o &5 H 9 Tefafaa s/ arafaal 1w § Saied &1

A, §9F HfEf
B. SIS AN
C. U I A
D. HEIeER S

E. el 9fafa (=R foen o &9 § e 3R FEhey o 9N H o)
=1 feu o faredi § ¥ W& ST T |

(1) D,ACEB

) B,D,CEA

(3) B,D,ACE

) D,B,ACE

Options :

42558942404. 1

42558942405. 2

42558942406. 3
42558942407. 4

Question Number : 14 Question Id : 42558910897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following institutions are among Top Ten institutions in the category of research
institutions in India Ranking : 2024 released by NIRF ?
Indian Institute of Technology, Delhi

Tata Institute of Fundamental Research

Indian Institute of Technology, Kanpur

Indian Institute of Technology, Indore

Indian Institute of Technology, Madras

Choose the correct answer from the options given below :
(1) A, CandD Only

(2) B,DandE Only

(3) B,Cand D Only

4) A CandE Only

mONwp

Options :

42558942408. 1
42558942409. 2
42558942410. 3
42558942411. 4



Question Number : 14 Question Id : 42558910897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TA 3% 3R U g S gfoean $ehm2024 " o i weensi 1 goft # vinixy <@ gl o frafates
T F | HegH e €2

A, R gt e, e

B. /I sfieege i Hemen fus
C. HRdH™ YRR Feg™, R
D. YR Wi HeemE, 36
99 feu o fammedi # | WE SR T |
(1) & A, C SRD

(2) @A B, D 3RE

(3) e B, C 3R D

(4) FA A, C 3RE

Options :

42558942408. 1
42558942409. 2
42558942410. 3
42558942411. 4

Question Number : 15 Question Id : 42558910898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - I List-1I
(Four Independent Verticals of HECI) (Major Function)
A, HEGC 15 Frame graduate attributes
B. GEC II.  Common Single Point Regulator
C. NAC III. Funding and Financing of Higher
Education
D. NHERC IV. Accreditation of Institutions

Choose the correct answer from the options given below :
(1) A-IL B-1, C-1V, D-1II

(2) A-II, B-II, C-1IV, D-1

(3) A-LIV, B-1IL, C1I, DI

(4) Al B-L, C-1V, D-II

Options :

42558942412. 1

42558942413.2

42558942414. 3

42558942415. 4



Question Number : 15 Question Id : 42558910898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

At - 1 %1 it - 11§ gifer & |
Tkt - 1 Tt - 11

(= 3 i g & = T e ) (wE weTH)
A, IS . T &1 fadareli 1 TR TR S
B. SigH II.  FA TFa e fafames
C. TATH 1. 3= foen =1 ffaea o) faadmm
D. TATIE&RH IvV. geenst = gemra
= feu o fomredi § | W& SR T |

(1) A-IL B, C-IV, D-1II
(2) A-II, B-1I, C-1V, D-1
(3)  A-IV, B-II, C-II, DI
(4) A, B-I, C-1V, D-II

Options :

42558942412. 1

42558942413.2

42558942414.3
42558942415. 4

Question Number : 16 Question Id : 42558910899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which Model depicts communication asa process by which communicators send messages/ feedback
simultaneously to one another ?
(1) Socio-cultural
(2) Socio-psychological
(3) Interactional
(4) Transactional
Options :
42558942416. 1
42558942417. 2

42558942418. 3
42558942419. 4



Question Number : 16 Question Id : 42558910899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freafafaa # | form wica # TR ot tHl gfeman & w0 § seofaa fawan man € fas amean  Jus U gl
I I Hewl/ qiagfe et ¢ ?

(1)  FHIfSih-HiEekfas

2)  HHITSR -FAA TR

(3) STErafERaTHE

(4) HHRIHF

—

Options :

42558942416. 1
42558942417. 2
42558942418. 3
42558942419. 4

Question Number : 17 Question Id : 42558910900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which one is not a type of communication modality ?
(1) Proxemics
(2) Heptics
(3) Chronotoxics
(4) Crestures
Options :
42558942420. 1
42558942421. 2

42558942422.3
42558942423. 4

Question Number : 17 Question Id : 42558910900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefiaa & 9 9 o G geRrdd 1 YER @l 8 ?

(1) HrHrerERT (i)

(2) = faam (2feam)

(3) SRR

(4) yE-fmE (SEE)
Options :

42558942420. 1
42558942421.2
425589424223
42558942423. 4



Question Number : 18 Question Id : 42558910901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following chronologically on the basis of their launch year :
A.  Swayamprabha

B. Krishi darshan

C.  Gyandarshan

D. PM_eVidya

Choose the correct answer from the options given below :

(1) CABD
@ ACD,B
3) B CAD
@) A,B,D,C
Options :

42558942424. 1
42558942425.2
42558942426. 3
42558942427. 4

Question Number : 18 Question Id : 42558910901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefea 1 37k G (YURY) a9 & TER T FETHRE H afed i |

A, =EYYl

B. iUy

C. re9A

D. dren-Sfea

= feu o fasredi § | W& SR A |

(1) C, A, BD
(2 ACD,B
(3) B,C A D
(4 ABD,C
Options :

42558942424 1
42558942425. 2

42558942426. 3
42558942427. 4



Question Number : 19 Question Id : 42558910902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are required to become a good listener ?
Keep quite while listening

Listen with negative attitude towards the speaker

Show interest in the speaker

Focus on the dress and appearance of the speaker

mON®p

Keep your mind open to every subject and speaker
Choose the correct answer from the options given below :
(1) A BandCOnly
(2) B,Cand D Only
(3) A CandEOnly
(4) C, DandE Only

Options :

42558942428. 1
42558942429. 2

42558942430. 3
42558942431. 4

Question Number : 19 Question Id : 42558910902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I dian 2 % fae frefaea 8 9 6= =il 1 S s 272

A, HAd 99 faoge 99 &
B. gl Wl 91 I FRRIHE ATvghd § g1
C. =g ¥ afiwfa g
D. &9 % UREM iR wdifa ® = Sfaa s
E.  woeh famg oiiw o= & gfa = &
9 fau o fosredi § | W@ 39 9 |
(1) e A, B3R C
(2) aa B, C 3R D
(3) eFae A, C SRE
(4) %FFA C, D 3RE
Options :

42558942428. 1
42558942429. 2
42558942430. 3
42558942431. 4



Question Number : 20 Question Id : 42558910903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - I List- 11
A.  Public Communication L. Communicating with oneself
B. Group Communication IL face to face Communication with another person
C. Intrapersonal Communication [lIl. whenmany people participate in communication with
each other
D. Interpersonal Communication IV. one person speaking to a large number of people

Choose the correct answer from the options given below :
(1) A-II, B-1I, C-IV, DL

(2) A-IV, B-1IL, C-[, D-II

(3) A-L B-II, C-III, D-IV

4) A-IV, B-1 C-II, D-III

Options :

42558942432. 1

42558942433. 2

42558942434. 3
42558942435. 4

Question Number : 20 Question Id : 42558910903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gt - 1 %1 gt - 11§ goferd 1|
et - 1 T - 11

A, A EHER I =9 ¥ gy
B. WHfesw AR 1. & =afa 9 AW+ 9 S99
C. ofodfHes WaR [ S s5gd § S0 U g A Hume F e o ©

D. a:adfads §9R IV. U AT 1 goq S H @rll sl diem
=1 feu g faespedi H 9 W& ST A |

(1)  A-IIL B-II, C-IV, D-I

(2) A-1V, B-III, C-1, D-II

(3)  A-l, B-lI, C-III, D-IV

(4)  A-1V, B-I, C-II, D-III

Options :

42558942432. 1

42558942433. 2

42558942434. 3
42558942435. 4



Question Number : 21 Question Id : 42558910904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A beat takes an hour to cover a certain distance downstream in a river. It takes 11 hour to cover the

same distance upstream. Assuming that the speed of boat is same in both downstream and upstream
directions, what is the ratio of speed of boat to that of stream in the river ?

® 2:3
@ 5:1
@) 3:2
@ 5:2

Options :

42558942436. 1
42558942437.2
42558942438. 3
42558942439. 4

Question Number : 21 Question Id : 42558910904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o 1@ 1 75T *T HO-YaTE (SRTEM) F1 e ¥ wfaud g 99 9 H T e H GHh o ©
URI9eTE o fowia (7o) fown o 3a+1 €1 <0 o9 & H 30 S8 9 o 9Wg ol © 1 HH @i R
TSN SR SO ST femmedt § e i 9 99 € 91 39 W e w9 S8 A # 9N h ae
T 2T 82

(1 2:3
(2 5:1
(3) 3:2
(4 5:2

Options :

42558942436. 1
42558942437.2
42558942438. 3
42558942439. 4

Question Number : 22 Question Id : 42558910905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Two persons A and B finish a work in 10 days. A is twice as efficient than B. How many days A will
take to finish the work, if he has to do it alone ?
(1) 8days
(2) 12days
(3) 15days
(4) 18 days
Options :
42558942440. 1
42558942441. 2

42558942442.3
42558942443. 4



Question Number : 22 Question Id : 42558910905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A &R B forlt =61 1 10 ool o g0 oa €1 A T FrEiEwern B ¥ S 1 At A F ok 39 %
T HAT S A W 30w | o feq @i 2

(1) 8§fed
(2) 12 =
(3) 15 fe
(4) 18 =
Options :

42558942440. 1
42558942441. 2
42558942442. 3
42558942443. 4

Question Number : 23 Question Id : 42558910906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in increasing order of their values :

A (0172
1
B. (L %
(100)
(a9 (u005f%
D. (un4fé

Choose the correct answer from the options given below :
(1 A CDB

2y ACBD

3) D,BCA

4 CBDA

Options :

42558942444. 1

42558942445.2

42558942446. 3
42558942447. 4



Question Number : 23 Question Id : 42558910906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa =1 396 TF & R | 9ed 9 H sgafiem Fifed |

A, (0.1)3
1 V2
B =
& ([}.[}[}5}‘1’5
D. mm#
= feu o forepedi H 9 WE 3T A |

(1) ACD,B
(2 ACBD
@3 D,BCA
4 CB,DA

Options :

42558942444 1
42558942445.2
42558942446. 3
42558942447. 4

Question Number : 24 Question Id : 42558910907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the correct statements :
e A
A (216)7 > (169)
The next term in the series 2, 7, 28, 63, 126, ....... is 217

C.  Thearea of equilateral triangle of side 10 cm is 25\;6

1
D.  The average of the following observations —2, —1,0, +1, +2, +3is 5

Choose the correct answer from the options given below :
(1) CandDOnly

(2) B,Cand D Only

(3) AandD Only

4) A CandD Only
Options :

42558942448. 1

42558942449. 2

42558942450. 3
42558942451. 4



Question Number : 24 Question Id : 42558910907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

&l FYH I TeTH U |

1

A. (216]A > (169]’1/2
B 286819 g1 F AT UG 217 T
C. 108 ysn % gHarg Iyt &1 &%a 253 T

1
D. fyefefes 9am -2, —1,0, +1, +2, +SEFI3ﬁFIﬁ§ 2

= feu o fasedi # § W& SR 1 |
(1) C 3R D %aa

(2) B, C 3R D %Had

(3) A 3R D Fad

(4) A, C 3R D %Had

Options :

42558942448. 1
42558942449. 2
42558942450. 3
42558942451. 4

Question Number : 25 Question Id : 42558910908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - I List - I1
1 3
A. (343}%» - (81]/1 is equal to L 100
B. 1f2% x 43 x 8% = 2¥the xis equal to . 200
(Lon)?* - @)
. (101 + 1) is equal to L. 4
D. A train moving with speed of 90 km/hour crosses a IV. 23

platform of length 100 m in 12 second. The length (m)
of the train is

Choose the correct answer from the options given below :
(1) A-I B-1IV,CI, D-1I

(2)  A-LL B-1V, C-1II, D-1

(3) AL B-IIL C-1V, D-1I

(4) A-I, B-1Iv, CI, D-1

Options :

42558942452. 1

42558942453.2

42558942454. 3
42558942455. 4



Question Number : 25 Question Id : 42558910908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 1 %1 e - 108 gafed
e - 1 e - 10

A (343)/3 - (B1)/4 = Lo
B. #ufe28 x 43 x 8 =2v% 4l . 200
XHHAE
(1.01)* — (1)
ol oL+ 1) . 4
D. 90fwen i yfa s ST =ama @ V. 23
= AT el 100 H. &6 W2
12 W3ve T IR FTd & O TSl S das ¥
= feu U fosedi § | W@ I T

(1) A-II B-IV, C-I, D-II
)} A-Il B-IV, C-II, D-1

(3) A-lL B-1II, C-IV, D-II
) A-I, B-1V, C-II, D-1

Options :

42558942452. 1

42558942453.2

42558942454. 3
42558942455. 4

Question Number : 26 Question Id : 42558910909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a group of 40 people, 25 people speak Hindi and 20 people speak both Hindi and Urdu. All the
people speak atleast one of the two languages. How many people speak Urdu ?

(1) 65

@ 15
@) 45
@ 20

Options :

42558942456. 1
42558942457.2
42558942458. 3
42558942459. 4



Question Number : 26 Question Id : 42558910909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

40 ATt % e H 25 @ ferdl ditera € #fw 20 @R fewt oiv 3 31 aer ¥ 1wl o 39 H | w3 e
T A1 Sed ©, 9 Fa & o fran @i o ser @2

(1) 65
2 15
(3) 45
@) 20

Options :

42558942456. 1
42558942457. 2
42558942458. 3
42558942459. 4

Question Number : 27 Question Id : 42558910910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The fallacy where the conclusion does not logically follow from the premises is called :
(1) Adhominem
(2) Straw man
(3) Non-sequitur
(4) Redherring
Options :
42558942460. 1
42558942461. 2

42558942462. 3
42558942463. 4

Question Number : 27 Question Id : 42558910910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o8 T g e frepd aiféher &9 § omeR areRll € Sy T8 ST €, Fed ¢
(1) =AfsTd =74 (TESRTHH)

@ =

(3) FiA-fEgeTe

(4) Teefm
Options :

42558942460. 1
42558942461.2
42558942462. 3
42558942463. 4



Question Number : 28 Question Id : 42558910911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the four noble truths of Buddhism in the chronological order :

A.  Nirodha
B. Marga/Magga
C.  Dukha

D. Samudaya

Choose the correct answer from the options given below :
(1) B,ACD

2 CDAB

3y D;CBA

4 ACBD
Options :

42558942464. 1

42558942465. 2

42558942466. 3
42558942467. 4

Question Number : 28 Question Id : 42558910911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A5 U9 % =R AT T T FCTHRT § A wife |

A, T

B.  ®F/®

C. §¥

D. HHI™

= feu o fasredi § | W& SR A |

(1) B,ACD
(2 ©DAPR
(3) D,CB,A
(4 A CB,D
Options :

42558942464. 1
42558942465. 2

42558942466. 3
42558942467. 4



Question Number : 29 Question Id : 42558910912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are valid deductive forms of reasoning ?
A, Modus Ponens

B.  Modus Tollens

C.  Hypothetical syllogism

D.  Argument from analogy

Choose the most appropriate answer from the options given below :
(1) AandBOnly

(@) A BandCOnly

(3) A, BandD Only

(4) CandDOnly

Options :

42558942468. 1
42558942469. 2
42558942470. 3
42558942471. 4

Question Number : 29 Question Id : 42558910912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TN 3 oY TR ey frefeafad § 9 wH E €2

A, HIE" qH"

B. HEH IiH

C. YReheqArcHs =aem

D. Wgvam 9 g (T6)

= feu v forspedi W 9 W& 3T T |
(1) ©oFFa A JARB

(2) oeE A, B3RC

(3) ad A, B3RD

(4) FA C AR D

Options :

42558942468. 1
42558942469. 2
42558942470. 3
42558942471. 4



Question Number : 30 Question Id : 42558910913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - I List- 11
A.  Ad hominem L. Mistaking correlation for causation
B. Straw man IL Attacking the person instead of issue
C.  False cause I[lI. Misrepresenting someone’s argument
D. Red Herring IV. Diverting attention to another issue

Choose the correct answer from the options given below :
(1) A-IV, B-lI, C-I, D-III

(2)  A-LL B-lII, C-1, D-IV

(3) A-IL B-1, C-II1, D-IV

(4) Al B-1I, C-I, D-1IV

Options :

42558942472. 1

42558942473. 2

42558942474. 3
42558942475. 4

Question Number : 30 Question Id : 42558910913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gt - 1 %1 gt - 11§ goferd 1|
et - 1 T - 11

A.  TE RN .  HeHY I HEHE TS =l Yol H
B. WA [ WHel & o6y SAfd 92 STeRaT Al
C. ThicH A 1. ol =afaa o ek a1 e freum

D. Yeefm IV. &= faug (453) = T = #1 fageA
1 feu o fommredi § | W& 3T 9 |

(1) A-IV, B-II, C-1, D-1II
) A-IL B-III, C-1, D-IV

(3) A-IL B, CI, D-IV
) A-I, B-11, C-1, D-IV

Options :

42558942472. 1

42558942473.2

42558942474. 3
42558942475. 4



Question Number : 31 Question Id : 42558910914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
According to Bloom’s CAP Classification of Educational Objectives, is an example of
Psychomotor Domain.
(1) Organizing
(2) Application
(3) Manipulation
(4) Comprehension
Options :
42558942476. 1
42558942477.2

42558942478. 3
42558942479. 4

Question Number : 31 Question Id : 42558910914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SeqfoTer 3gETA o S 6§ U A (W) T F STER TR YT T ST T
(1) =T

(2)  SAHERT

(3) BeEeE (T-W)
(4) wHA

Options :

42558942476. 1

42558942477. 2

42558942478. 3
42558942479. 4

Question Number : 32 Question Id : 42558910915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Verbal Association Learning” was proposed by :
(1) Melton

(2) Thorndike

(3) Cronbach

(4) Gagne
Options :

42558942480. 1
42558942481.2
42558942482. 3
42558942483. 4



Question Number : 32 Question Id : 42558910915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“yrifeger e s1ferm’ & yEUTTeE i 9 2
(1) HeeA

(2) eiteE®

(3) HAEE

(4) T
Options :

42558942480. 1
42558942481.2
42558942482. 3
42558942483. 4

Question Number : 33 Question Id : 42558910916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the important events according to the Erickson’s Eight Stages of Psychosocial development
sequentially :

Toilet training

Feeding

Reflections and acceptance on one’s life

Love relation

moNwp

Peer relationships

Choose the correct answer from the options given below :
1y ACBD,E

@ CABDE

3} BAED,C

4 ADECB

Options :

42558942484. 1

42558942485. 2

42558942486. 3
42558942487. 4



Question Number : 33 Question Id : 42558910916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A. e giee

B. @

C. &9 Sfred R foa iR w=igfd
D. 39 gy

E.  O9Fsg day

= feu o e ° § |98 ST T
(1) A CBDE

(2) C A BDE

(3) B,AED,C

(4 A, D,ECB

Options :

42558942484. 1
42558942485.2
42558942486. 3
42558942487. 4

Question Number : 34 Question Id : 42558910917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Some statements are given below. Mark the ‘Right’ combination :

A.  Teaching is included in learning - True

B. Post active stage of teaching provides a corrective and remedial scope of teaching - False
C.  Teaching is included in learning - False

D.  Post active stage of teaching provides a corrective and remedial scope of teaching - True
Choose the correct answer from the options given below :

(I) AandD Only

(2) CandBOnly

(3) AandBOnly

(4) CandDOnly
Options :
42558942488. 1
42558942489. 2
42558942490. 3
42558942491. 4



Question Number : 34 Question Id : 42558910917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=1 =wfa oA feu e € 1 | g o TawsifeT

A, e  foer siafde € - w9

B.  fometor # 3T Wi StEwe ¥ LAY T GURHE IR IUEH &1 Uers BT ¥ | - e
C. v ¥ e siafote € - e

D. fowemr &t S Gl stawen @ o1eA19e 1 QUNTE S SU9RT & S9ere 2 81 - Tl

T feu o fasredi § | Wl 3w 9 |
(1) aa A 3RD

(2) oaa C 3B

(3) HIA A JARB

(4) @ C 3R D
Options :

42558942488. 1
42558942489. 2
42558942490. 3
42558942491. 4

Question Number : 35 Question Id : 42558910918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I :

List - I List-1I
(Mental approaches) (Objectives related with)
A.  Recall L. Understanding
B. Discrimination II. Knowledge
C.  Hypothesis establishment II.  Creativity
D. Evaluation IV. Application

Choose the correct answer from the options given below :
(1) A-IL B-1V, C-1, D-III

(2) A-IL B-1, C-IV, D-III

(3) A-IV, B-1IL, C1I, DI

4) A-IV, B-1I, C-I, D-III

Options :

42558942492, 1

42558942493. 2

42558942494. 3
42558942495. 4



Question Number : 35 Question Id : 42558910918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

- 1 % e - 1 & e
et -1 Tt - 11

(wTfEeR SamTe ) ( Heifaa 3q2999)
A, FTE I 4
B. WguME . A
C. WEHeT T L.  GSAHeR
D. HeAHA V. ST9am
= feu o fomredi § | W& SR T |

(1) A-IL B-IV, C-1, D-1II
(2) A-IL B-I, C-IV, D-1II
(3)  A-IV, B-II, C-II, DI
(4) A-IV, B-II, C-I, D-1II

Options :

42558942492 1

42558942493. 2

42558942494. 3
42558942495. 4

Question Number : 36 Question Id : 42558910919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

PSTN stands for :
(1) Public Service for Technical Networks
(2)  Public Switched Telephone Network
(3) Public Satellite Television Network
(4) Public Safety Trademark Network
Options :
42558942496. 1
42558942497. 2

42558942498. 3
42558942499. 4

Question Number : 36 Question Id : 42558910919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 o 2 T 1 aer ey § 7
(1) dfeerer |feg ®R feFFa qeaad
2) s fg=s Sfawm Jeas
(3) etk HeaEe Sefifas eah

(4) dfecTh U921 SSHER Hedh

—

Options :

42558942496. 1
42558942497. 2
42558942498. 3
42558942499. 4



Question Number : 37 Question Id : 42558910920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The decimal number equivalent to binary digit 110 is

(1) 4
@ 5
@3) 6
@ 7
Options :

42558942500. 1
42558942501.2
42558942502. 3
42558942503. 4

Question Number : 37 Question Id : 42558910920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fgemRY e 110 F THged <Y e €

(1) 4
(2 >
(3 6
@ 7
Options :

42558942500. 1
42558942501. 2
42558942502. 3
42558942503. 4

Question Number : 38 Question Id : 42558910921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the ‘RIGHT statements :

CISCO is a Hockey manufacturer

VLC is Visible Light Communication

SDN is System of Digital Network

HyperCat is an Open JSON based Catalog format

SoC is Sequence of Choice

moNwp

Choose the correct answer from the options given below :
(1) AandBOnly
(2) BandCOnly
(3) CandEOnly
(4) Band DOnly
Options :
42558942504. 1
42558942505. 2

42558942506. 3
42558942507. 4



Question Number : 38 Question Id : 42558910921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el Ul )l gAY

A. o g fafmia 2|

B. o Ud Hi TTANT YR 9K € |

C. vA e w # aryd fefoea Jead & faen 4 21
D. TRYGHS UF o S i Sheet gy S
E.  TH 3 o o s Hiehy o =g ¥ g

= feu o faredi ® ¥ W& ST T |

(1) oFaa A SAXB

(2) aA B3R C

(3) %99 C SRE

(4) e B3R D
Options :

42558942504. 1
42558942505. 2
42558942506. 3
42558942507. 4

Question Number : 39 Question Id : 42558910922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Choose the ‘RIGHT’ statements :

[oT term was first used by Ashton in context to supply chain management with RFID-tags
Bluetooth 4.0 is working on the frequency range of 2.4 MHz
Gyroscope is normally related to the motion sensors

[Pv6 is related to the coding of vaccines protocol

mONwp

GSM is global sequence of Mechanics
Choose the correct answer from the options given below :
(1) AandBOnly
(2) DandE Only
(3) AandCOnly
(4) Band DOnly
Options :
42558942508. 1
42558942509. 2

42558942510. 3
42558942511. 4



Question Number : 39 Question Id : 42558910922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el e 9T |

A, 3TE ST A TEN HE YW IR UF o7 € 2 S guen vay F Hey ¥ tved gan e
o

B. w2¥ 4.0 SAEM 19 2.4 WRES H HE FT ¢

C. SRR Qe HIvH Sadl | Heifed 2rar &

D. aTE 9 off 6 2 TR F FeagT ° Hafed 8

E. o1 UH UH % A TEEe faeey 3iE Hafaeg R
9 feu o fasredi § | Wl 3T 9 |

(1) %aa A 3B

(2) oFFd D SRE

(3) oA A 3RC

(4) ae B 3RD
Options :

42558942508. 1
42558942509. 2
42558942510. 3
42558942511. 4

Question Number : 40 Question Id : 42558910923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - I List- 11

(Type of Processor) (Characteristics)
A,  CISC Processors L. Operating system controls overall assignment of tasks
B. RISC Processors Il.  Use explicit parallelism
C.  EPIC Processors III. These possess so many processing features, making

the job of machine language programmers easier

D.  Multicore Processors IV. Have a small instruction set

Choose the correct answer from the options given below :

(1) A-IL B-1, C-1V, D-1II

(2) A-II, B-1V, C-I, D-I

(3) A-ILL B-1V, C-1, D-III

(4) Al B-11, C-1IV, D-1
Options :

42558942512. 1

42558942513.2

42558942514.3
42558942515. 4



Question Number : 40 Question Id : 42558910923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et - 1 1 g - 1 gafed & |
Tt -1

( WTHET T TR )
A, H o T E 9EEt
B. 3N 32 U 9 WraT
3 1 g Y
D. TEER TEE
= feu o fomredi § | WE SR A |

(1) A-IL B-I, C-1IV, D-1II
(2) A-I, B-1V, C-1I, D-1
(3) A-IL B-IV, C-1, D-1II
(4) A-l, B-II, C-1V, D-1

Options :

42558942512. 1

42558942513.2

42558942514.3
42558942515. 4

III.

IV.

g - 11

( fergrerar)

sitqfen fowen & & 9uy e =1 FEtE #a ©
TOH TI YU 940 o6l

R} =T S AT g 2 e §

Y oY ST U= Bl ¥

Question Number : 41 Question Id : 42558910924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

As per Noise Pollution (Regulation and control) Act (2000), the permissible noise level (Leq) during

the day for silence zones is :
(1) 55dB(A)

) 50dB(A)
() 45 dB(A)
(4) 65 dB(A)

Options :

42558942516. 1
42558942517.2
42558942518. 3
42558942519. 4



Question Number : 41 Question Id : 42558910924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

v ggwl (fafreme S fesmn) sfufem, 2000 % 99N, gas (FRed §H) # o7 & 999 srqad
e TR (L) ©

(1) 55 sfEaa(A)

(2) 50 efFE@(A)

(3) 45 efEad(A)

(4) 65 SfEaE(A)

Options :

42558942516. 1

42558942517.2

42558942518.3
42558942519. 4

Question Number : 42 Question Id : 42558910925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following pertains to Clean Development Mechanism (CDM) under Kyoto Protocol ?
(1) Getting Certified Emission Reductions (CER) credits for industrialised countries
(2) Reducing noise pollution
(3)  Decreasing amount of chlorofloro carbons
(4) Maintaining ozone layer
Options :
42558942520. 1
42558942521. 2

42558942522.3
42558942523. 4

Question Number : 42 Question Id : 42558910925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fefafiea & 4 = 2 idiria & siaid Ees foskm 951 (4 €1 ) 9 Hefya 72
(1) @it <9 % o ymifor e 29 (91 § 3R) shfee o &
(2) =& TEE
(3) SRR IS i HEAT H FHT FLAT
(4)  SISIA A 1 ST

Options :

42558942520. 1
42558942521.2
42558942522. 3
42558942523. 4



Question Number : 43 Question Id : 42558910926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the phases of modern approach to disaster management in order (from initial to final) :
A.  Recovery

B. Preparedness

C.  Response

D.  Mitigation

Choose the correct answer from the options given below :
(1) C,BAD

20 D,BCA

3 ABCD

4) BCAD

Options :

42558942524. 1
42558942525.2
42558942526. 3
42558942527. 4

Question Number : 43 Question Id : 42558910926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ST9ET FeeF % YR SIRTH R AW | Sifad 7 % FH H SErem S
GRIE

srfeRan

ST/

= feu o fasredi § | W& SR A |
(1) GCB,AD

2 D.BCA

(3) A BCD

(4 B, CAD

Options :

42558942524. 1
42558942525. 2
42558942526. 3
42558942527. 4

o N e p



Question Number : 44 Question Id : 42558910927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements regarding environmental incidents from the following :
Bhopal accident was due to methyl isocyanate

Hiroshima and Nagasaki incident was due to radioactivity

Bhuj incident occurred due to poison gas

Fukushima nuclear power plant incident was due to earthquake

mON®p

Chernobyl accident in Soviet Union occurred due to volcano
Choose the correct answer from the options given below :
(1) A BandCOnly
(2) A, BandD Only
(3) A, C and EOnly
(4) C, DandE Only
Options :
42558942528. 1
42558942529. 2

42558942530. 3
42558942531. 4

Question Number : 44 Question Id : 42558910927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR SIS % Hay H frefatad § 9 98 e g
fremea sTedETEAe & HRO T 9 TS gE off |
IfeAmfiian o wror felifor &7 ARmETR 1 S g off |
fadiedt T & R0 o= #1 gee ufed g off |

e FITHT GTHIY] 35l WA ol HAT Y o U g3 o |
E.  Hifaad 99 &1 9ifact gee s et & wR =fed g o |

o N @ p

= feu o forepedi H 9 Wl T A |
(1) e A, B3R C

(2) FA A, B3RD

(3) oaA A, C dRE

(4) Fa C, D 3RE
Options :

42558942528. 1
42558942529.2
42558942530. 3
42558942531. 4



Question Number : 45 Question Id : 42558910928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - I List-1I
(Waste Disposal Method) (Characteristics)
A.  Modern Landfilling L. Reduced waste volume
B.  Open land dumping Il.  Well engineered and managed facility
C. Incineration [lIl. Ecofriendly process
D.  Bioconversion into compost IV. Low costof dumping

Choose the correct answer from the options given below :

(1) A-IL B-III, C-IV, D-I
(2) A-I, B-II, C-1, D-IV
(3) A-ILL B-1V, C-, D-III
4) A-IL B-1, CII1, D-IV
Options :

42558942532. 1
42558942533.2
42558942534. 3
42558942535. 4

Question Number : 45 Question Id : 42558910928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 1 1 g - 11 @ e

et - 1 Tl - 10

( 3rufyree Frearor fafir) ( Fagrear)
A, YR Y-WWE I wfFd 9 %1 7
B. W& 4| ured . Y-y iR gatea gl
C. T 1. ggfere iRfEafaent sgFe wha
D. U H SE-gaiEdd IV. YA &l <A ard
=1 feu o famwedi § | wE S T |

(1) A-IL B-IIL C-1V, D-1
(2) A, B-1I, C-I, D-1IV
(3) A-II, B-IV, C-1, D-III
(4) A-IL B, CI, D-1IV

Options :

42558942532. 1

42558942533.2

42558942534. 3

42558942535. 4

Sub-Section Number : 3
Sub-Section Id : 425589433
Question Shuffling Allowed : No



Question Id : 42558910929 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage and answer the questions :

The first step is for us to realise that a city need notbe a frustrater of life; it can be among other
things, a mechanism for enhancing life, for producing possibilities of living which are not to be
realized except through cities. But, for that to happen, deliberate and drastic planning is needed.
Towns as much as animals, must have their systems of organs-those for transportand circulation are
an obvious example.

What we need now are organ systems for recreation, leisure, culture, community expression.
This means abundance of open space, easy access to unspoilt nature, beauty in parks and in fine
buildings, gymnasia and swimming baths and recreation grounds in plenty, central spaces for
celebrations and demonstrations, halls for citizens’ meetings, concert halls and theatres and cinemas
that belong to the city.

And the buildings must not be built anyhow or dumped down anywhere; both they and their
grouping should mean something important to the people of the place.

Sub questions

Question Number : 46 Question Id : 42558910930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Cities can be made more worth-living if they :

(1) are vigorously planned to serve the needs of the people
(2) have only good transportation facility

(3) have many hospitals

(4) have only more cinemas and sources of entertainment
Options :

42558942536. 1

42558942537. 2

42558942538. 3
42558942539. 4

Question Number : 47 Question Id : 42558910931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What could be the most suitable title for the passage ?
(1) Towns versus Animals

(2) Theneed for planned cities

(3)  Modern cities : Benefits and Shortcomings

(4) How to develop a Global city

Options :

42558942540. 1

42558942541.2

42558942542. 3
42558942543. 4

Question Number : 48 Question Id : 42558910932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The word "drastic’ in the passage means :
(1) Radical
(2
(3
(4

Orderly

)
) Consistent
) Determined



Options :

42558942544. 1
42558942545. 2
42558942546. 3
42558942547. 4

Question Number : 49 Question Id : 42558910933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The phrase ‘Unspoilt Nature’ is in the context of

(1) Nature is not allowed to be a stumbling block in the human’s progress
(2)  Building cities with the system of organs like those of animals

(3) Free access to parks and open spaces

(4) Nature to retain its primitive condition

Options :

42558942548. 1

42558942549.2

42558942550. 3
42558942551. 4

Question Number : 50 Question Id : 42558910934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The antonym of the word frustrater’ used in the passage is
(1) Promoter
(2) Approver
(3)  Admirer
(4) Downer
Options :
42558942552 1
42558942553.2

42558942554. 3
42558942555. 4



Question Id : 42558910929 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Freferfiae ey it sagde ufew ot e & swe Sfew)

TR 0 Teel =01 9% S9E H © {5 Tet F Sfad H1 R Fame g6 F i Sravasal 76 ¢
g 11 <l H ¥ U B Tkl €, Sia o gas i ufshan, sfe i # HereEmd 3c e & fere fament
wifta vt % srfafia o meem @ 6 @ gedt ©1 T T en % fo giaenfa o geen (sifes)
Ars1-fmron sTafésa ®1 T # wfoR T sdifa ST B siferd ® - ufteed &R Hew % fou 93 5
T IR0 €1 e gH HARed, FHa (fagmeEe), epfa, ametues sfuefa & ffga o o =
HEeFFRA © | TR q9d WG Gedl S8, IS YFHid Tl GrH ST, aHi S ZARal | gal,
TS 3R TRk TR 3R g de § wHisH o foM, TrRe! o) 9ee & fore g M, FrTfet
! JI3ehi o feTu 2T, Uevi Biat 3TR Areene ST fammmeii o1 Sucieudr ¥ € S 92 & & | 31 el o1 fmfo
A o YeRiLO el {1 ST =feq 3 39 el Wl 6l a1 S =1y, o SR 39 el 1 areqd TH =i
¥ 1 =nfen Sl 39 ¥ | wAar Anl o fog weeg 2 |
Sub questions

Question Number : 46 Question Id : 42558910930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W&l I SR S1fres @A e S S g € 4G

(1) T @ STEegeRd qfd o fore 39et 39 ®9 | disl 7aR i S
(2) @l Fad I R Gla Suere B

(3) e 9gd ¥ AT gl

(4) T Faa v sfuw fgTmrR iR THARSE % 9 sues 8

Options :

42558942536. 1
42558942537.2
42558942538. 3
42558942539. 4

Question Number : 47 Question Id : 42558910931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T T 1 HoifuE UG v o & Hehal § 2
(1) TR a9 9of
(2) TS el = STkl
(3)  enyfer wet ;. wfau iR HfirEt
(4) dfvaes T 9 Mg foran s

Options :

42558942540. 1
42558942541.2
42558942542.3
42558942543. 4

Question Number : 48 Question Id : 42558910932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TS W Y HeEd (giEeh) ' Weg | o S § 7

(1) §md
(2) =HEfEerd
(@) TegF

4) EwlE

Options :

42558942544. 1
42558942545.2
42558942546. 3
42558942547. 4

Question Number : 49 Question Id : 42558910933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T H e ufters gl @ s frefofea # & faas ded 7 72

(1) Ta & Wfa § T FT T a9 E At e

(2) vl o1 frmior 3= Sf | fopan s St R wifordi % wnTer § 2
(3) Sl iR el el 9 g Te

(4) wFfa g 19T sAfewRTeRr feafa = gfaaro
Options :

42558942548. 1
42558942549.2
42558942550. 3
42558942551. 4

Question Number : 50 Question Id : 42558910934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR W ygEd g (W) | @ faeim Fn e

(1) wHaH®

(2)  SFHICHE

(3) U9EEH

(4) ITHER
Options :

42558942552, 1
42558942553.2
42558942554. 3
42558942555. 4

Geography
Section Id : 425589150
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 425589434



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 42558910935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Ullman’s Model of Spatial Interaction does NOT introduce which of the following concept ?
(1) Transferability
(2) Intervening Opportunities
(3) Complementarity
(4) Distance-Decay
Options :
42558942556. 1
42558942557. 2

42558942558. 3
42558942559. 4

Question Number : 51 Question Id : 42558910935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ToHd &1 WA s fean uiea fafafaa § 9 foeg Yoea <1 yearfad & s & ?

(1) Exraome

(2) Al ST

(3) IR A/ QT
@) &

Options :

42558942556. 1
42558942557. 2
42558942558. 3
42558942559. 4

Question Number : 52 Question Id : 42558910936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the context of federalism in India, which of the following constitutional amendments granted
more financial and administrative powers to local governments ?

(1)  42nd and 44t Amendments

(2) 73 and 74" Amendments

(3) 441 and 46" Amendments

@) 91t and 92" Amendments

Options :

42558942560. 1

42558942561. 2

42558942562. 3
42558942563. 4



Question Number : 52 Question Id : 42558910936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
9Ra H Heae & ey #, frefafea § @ ffy g3 deinm 3 e wenl # afys o o
Wk STfeRral WM ot off ?
(1) 42731 2TR 44 97 G
() 739 W74 ST G
() 4479 2469 GIEA
4) 91T 392 ST HIEH
Options :
42558942560. 1
42558942561. 2

42558942562. 3
42558942563. 4

Question Number : 53 Question Id : 42558910937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following electoral reforms in India introduced the NOTA (None of the Above) option
in electronic voting machines ?

(1) Supreme Court ruling of 2013

(2) Representation of the people Act, 1951

(3) 615 Constitutional Amendment

(4) Election Commission Guidelines of 2000

Options :

42558942564. 1

42558942565. 2

42558942566. 3
42558942567. 4

Question Number : 53 Question Id : 42558910937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ara § fefafea # 9 fog fFrare gum 3 sersRife Sifén ouie § e (Swiea 8§ 9 #E 7)) fa%es mem
ST I FEST i o ?
(1) 2013 1 a9 =y o
(2) @i glafafae sifafTam, 1951
3) 61 9 W G
(4) 2000 % FAE =7 feen-fadw

Options :

42558942564. 1
42558942565. 2
42558942566. 3
42558942567. 4



Question Number : 54 Question Id : 42558910938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following economic activity is an example of Quaternary group of economic
activities ?

(1) Retailing

(2) Wholesaling

(3) Education

(4) Transport

Options :

42558942568. 1

42558942569. 2

42558942570. 3
42558942571. 4

Question Number : 54 Question Id : 42558910938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa § § wdr anfds nfafafy =qefs onfds nfafafel F age 1 seem &2
(1) G0 =

(2) <k AR

(3) foen

(4) GfterRA
Options :

42558942568. 1
42558942569. 2
42558942570. 3
42558942571. 4

Question Number : 55 Question Id : 42558910939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Albatross plateau is located in which Ocean ?
(1) Pacitic Ocean
(2) Atlantic Ocean
(3) Indian Ocean
(4)  Arctic Ocean
Options :
42558942572 1
42558942573. 2

42558942574. 3
42558942575. 4



Question Number : 55 Question Id : 42558910939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FearRH Y3R fFE wermrn | feug © 2
(1) 99T HeMER

(2) EANEF HeTEr

(@) Te= wemEm

(4) TRl HEMEIR

Options :

42558942572 1
42558942573.2
42558942574. 3
42558942575. 4

Question Number : 56 Question Id : 42558910940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following salt constitute the highest percentage of salt in the Oceans ?
(1) Sodium Chloride
(2) Magnesium Chloride
(3) Magnesium Sulphate
(4) Calcium Sulphate
Options :
42558942576. 1
42558942577. 2

42558942578. 3
42558942579. 4

Question Number : 56 Question Id : 42558910940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefefea § § SH-91 o= vemrd § Sufted eevi § gad wifues yioe feded vada 2 ?
(1) wifeam FnEe
@) Ty FEEs

(3) HEEH 9@k
(4) chfewray Hehe
Options :

42558942576. 1
42558942577.2
42558942578. 3
42558942579. 4



Question Number : 57 Question Id : 42558910941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which is the specialised form of tourism in which people experience relatively untouched natural
environments ?
(1) Mass Tourism
(2) Cultural Tourism
(3) Medical Tourism
(4) EcoTourism
Options :
42558942580. 1
42558942581.2

42558942582. 3
42558942583. 4

Question Number : 57 Question Id : 42558910941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FM-|1 T 1 i yrey € Forms @i eTierrha STEU Wik fas TateR S e ¢ § 2
(1) = 9
() wrEFfeE T

(3) fafeEen 9d9e
(4) TEER (3ER) FEHIA
Options :

42558942580. 1
42558942581.2
42558942582. 3
42558942583. 4

Question Number : 58 Question Id : 42558910942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Why is the Indian Ocean region geopolitically significant ?
(1) It connects major global energy trade routes
(2) It has the largest landmass in the world
(3) Itis the only ocean with no international disputes
(4) Itisentirely controlled by India
Options :
42558942584. 1
42558942585. 2

42558942586. 3
42558942587. 4



Question Number : 58 Question Id : 42558910942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fee TR & - TsHifas ¥ ¥ Heeqd i © 2

(1) I8 Y@ ol AR "7 ol S |

@) zai fava Fi gad sfuE wegm e

(3) TS UHAH HerdrR § foud g sfoiedg faare 78 €
(4) I& quiHar v gri fEtE €

Options :

42558942584. 1
42558942585. 2
42558942586. 3
42558942587. 4

Question Number : 59 Question Id : 42558910943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which Ministry of Government of India looks after the Census operations in India ?
(1)  Ministry of Education
(2)  Ministry of Statistics and Program implementation
(3) Ministry of Home Affairs
(4) Ministry of Health and Family Welfare
Options :
42558942588. 1
42558942589. 2

42558942590. 3
42558942591. 4

Question Number : 59 Question Id : 42558910943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR HIRR 1 FHA-H1 §3e/ 9 H SHUA] G=reld] 31 SEid il ¢ 2

(1) Tomam wmeE
() wifEgesl SR FEFH FE=ET B
@) e T

(@) A R IRER Fe waed
Options :
42558942588. 1
42558942589. 2
42558942590. 3
42558942591. 4



Question Number : 60 Question Id : 42558910944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one among the following religion belongs to the traditional form of religion ?
(1) Buddhism

(2) Shintoism

(3) Judaism

(4) Shamanism

Options :

42558942592. 1

42558942593. 2

42558942594. 3
42558942595. 4

Question Number : 60 Question Id : 42558910944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fefafaa uaf § 9 FH91 TF o, 99 % W 99 9 TEied §

(1) digHda

() fr=ER

(3) AW

(4) IHUETE
Options :

42558942592. 1
42558942593.2
42558942594. 3
42558942595. 4

Question Number : 61 Question Id : 42558910945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the oldest Indian rock system ?

(1) Purana
(2)  Archean
(3) Aryan

(4) Dravidian
Options :
42558942596. 1
42558942597.2
42558942598. 3
42558942599. 4



Question Number : 61 Question Id : 42558910945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa § 9 SFd ol e R w22m/ e Jorel © 2

(1 gum

(2) oTiREA

(@) oA

4) sfaferziae
Options :

42558942596. 1
42558942597.2
42558942598. 3
42558942599. 4

Question Number : 62 Question Id : 42558910946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The geopolitics of world natural resources is influenced by all of the following factors except ?
(1) Unequal distribution of resources across regions

(2) Technological advancements in resource extraction

(3) Climate change policies

(4) Complete self-sufficiency of all nations in resource production

Options :

42558942600. 1

42558942601. 2

42558942602. 3
42558942603. 4

Question Number : 62 Question Id : 42558910946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
farga o wrkfaes Gl #i serifa feafafaa § 9 uF % sterean s 9eft sren gry wefed 2 2
(1) &= & == JEEEl o STEET fomm
(2) HEHA fHeRdu A gEIfEE 3=
() Serary uftadd e
(4) HHIHA IcqeA H WA WL A qUl AT

Options :

42558942600. 1
42558942601. 2
42558942602. 3
42558942603. 4



Question Number : 63 Question Id : 42558910947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In Koppen's classification the ‘Cs’ type of climate represents to :
(1) Western Europe type of climate

(2)  China type of climate

(3) Mediterranean type of climate

(4) Polar climate
Options :

42558942604. 1

42558942605. 2

42558942606. 3
42558942607. 4

Question Number : 63 Question Id : 42558910947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FIO o TR H ‘Cs’ TR HT STerar] ford frefia et 82
(1) 9= ZiY YR & Seary
(2) =i YR H Feary
(3) YH¥ GFHE YR H Soary
(4) YA SeEry
Options :
42558942604 1
42558942605, 2

42558942606. 3
42558942607. 4

Question Number : 64 Question Id : 42558910948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The incoming solar radiation is known as :
(1) Isolation
(2) Insolation
(3) Radiation
(4) Izolation
Options :
42558942608. 1
425589426009. 2

42558942610. 3
42558942611. 4



Question Number : 64 Question Id : 42558910948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST (STM ) G fafer Fedd ¢ |
(1) IR

() S

(@) TafeEm

() ST
Options :

42558942608. 1
42558942609. 2
42558942610. 3
42558942611. 4

Question Number : 65 Question Id : 42558910949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The Annual Plans were formulated in between which two five year plans in India ?
(1) Second and Third
(2)  Third and Fourth
(3)  Fourth and Fifth
(4)  Fifth and Sixth
Options :
42558942612. 1
42558942613. 2

42558942614. 3
42558942615. 4

Question Number : 65 Question Id : 42558910949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WA ¥ oA < 99 96Ty dIeHiet o w9 aifties dIsHe §95 T8 9l 7

(1) TE0 IR dEd
(2) e S e
(3) et 3R i
(4) OrEE S wSt
Options :

42558942612. 1
42558942613.2
42558942614. 3
42558942615. 4



Question Number : 66 Question Id : 42558910950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The process of cumulative causation was put forward by which author ?
(1)  Albert Hirschmann
(2) John Friedmann
(3) Gunnar Myrdal
(4) W. Rostow
Options :
42558942616. 1
42558942617.2

42558942618. 3
42558942619. 4

Question Number : 66 Question Id : 42558910950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et ShT-FROT ot Hieh fohe oraer g0 o ki 7T off ?

(1) feae feeA

2) = wEgE

(3) TR ArREd

@4) = I
Options :

42558942616. 1
42558942617.2
42558942618. 3
42558942619. 4

Question Number : 67 Question Id : 42558910951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who propounded the concept of “Innovation Diffusion as a Spatial Process” ?
(1) Ullman

(2) Morrill
(3) Hagerstrand
(4) Reilly

Options :

42558942620. 1
42558942621.2
42558942622. 3
42558942623. 4



Question Number : 67 Question Id : 42558910951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
g ' u it i & ©9 § Ta-adt faerer’’ &t deerd wearfad oo 2
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Options :

42558942620. 1
42558942621.2
42558942622. 3
42558942623. 4

Question Number : 68 Question Id : 42558910952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In contrast to Mackinder’s Heart land Theory, Spykman’s Rimland Theory emphasies which regions
strategic importance ?
(1) Coastal Fringes of Eurasia
(2) Continental core of Eurasia
(3)  Arctic region
(4)  African continent
Options :
42558942624. 1
42558942625. 2

42558942626. 3
42558942627. 4

Question Number : 68 Question Id : 42558910952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hfehvet % 2gd Tua fagia & fawia, sty geaym (fm de) fagia fFm &9 % wrifas mea | 9
eAE?

(1) Ffer = A Hmid A

@) FefeEn # e #R)

(3) =Tehfe &
(4) ST HEE
Options :

42558942624. 1
42558942625.2
42558942626. 3
42558942627. 4



Question Number : 69 Question Id : 42558910953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Name the instrument which is used to measure horizontal and vertical angles more precisely :
(1) Hypsometer
(2) Clinometer
(3) Theodolite
(4)  Aneroid Barometer
Options :
42558942628. 1
42558942629. 2

42558942630. 3
42558942631. 4

Question Number : 69 Question Id : 42558910953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

&t ST SeATER I 1 ST YHa1 § AT H T S ATl ST T A € 7

(1) BRTHMH

(2) FETAHR

@) fIsiERE

(@) TTEE A
Options :

42558942628. 1
42558942629. 2
42558942630. 3
42558942631. 4

Question Number : 70 Question Id : 42558910954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is an advantage of vector data model ?
(1)  Efficient for network analysis

(2) Complex data structure

(3) Difficult overlay operations

(4) Not compatible with satellite imagery

Options :

42558942632 1

42558942633.2

42558942634. 3
42558942635. 4



Question Number : 70 Question Id : 42558910954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa § | S ST e ared &1 o 82
(1) ok favemm &g o
(2) e SR EE
(3) hfed 3iee g=neH

(4) Geemge (ITe) fasm & |y gET @

Options :

42558942632. 1
42558942633. 2
42558942634. 3
42558942635. 4

Question Number : 71 Question Id : 42558910955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Geographical information system has many important components, identify the one which is
NOT an important component ?

(1) Landforms

(2) Hardware

(3) People

(4) Software

Options :

42558942636. 1

42558942637. 2

42558942638. 3
42558942639. 4

Question Number : 71 Question Id : 42558910955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JRiifcieh G=A1 YOI o 9gd | Heel Ul 1994 § — 39 3099 % 9g= i S Hecqul 3T Tl € 7

(1) e
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Options :

42558942636. 1
42558942637.2
42558942638. 3
42558942639. 4



Question Number : 72 Question Id : 42558910956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
How does climate change impact global geo-politics ?
(1) By reducing migration flows and economic disparities
(2) By weakening the influence of regional organizations
(3) By increasing geopolitical tensions over water and energy resources
(4) By decreasing the importance of renewable energy sources
Options :
42558942640. 1
42558942641. 2

42558942642. 3
42558942643. 4

Question Number : 72 Question Id : 42558910956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Sferar aied foha g Sfvass o-TreHifa st genfer o 82
(1) Yo" Yam® SR A STHAEast &l F9 Fih
(2) &g HSHl 1 YNE FHSI FEH
(3) W@ SR He Y W YOSHIfdeE ael |§ gfe Fleh
(4) FHRTOE Sl Tl ot e FH

Options :

42558942640. 1

42558942641.2

42558942642. 3
42558942643. 4

Question Number : 73 Question Id : 42558910957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is most suitable diagram to represent the decadal growth of
population ?

(1) Flow diagram

(2) Line graph

(3) Bardiagram

(4) Circle diagram

Options :

42558942644. 1

42558942645. 2

42558942646. 3
42558942647. 4



Question Number : 73 Question Id : 42558910957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942644. 1
42558942645.2
42558942646. 3
42558942647. 4

Question Number : 74 Question Id : 42558910958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A marginal worker is the one who had worked for less than _ days in a year.
(1) 183

(2) 190

(3) 185

(4) 193
Options :

42558942648. 1
42558942649. 2
42558942650. 3
42558942651. 4

Question Number : 74 Question Id : 42558910958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS HHiq FHHR &8 &, oo uw ol § fet & =w = foman o |
1) 183
@) 190
3) 185
@) 193
Options :

42558942648. 1
42558942649. 2
42558942650. 3
42558942651. 4



Question Number : 75 Question Id : 42558910959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Indian GPS System known as NavIC (Navigation with Indian Constellation) is designed with a
constellation of satellites.

1 3
@ 5
3 7
@ 9
Options :

42558942652. 1
42558942653.2
42558942654. 3
42558942655. 4

Question Number : 75 Question Id : 42558910959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942652. 1
42558942653. 2
42558942654. 3
42558942655. 4

Question Number : 76 Question Id : 42558910960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who wrote the book “Mainsprings of Civilization” ?
(1) E.Huntington
(2) E.C.Semple
(3) H.J. Makinder
(4) G.P. Marsh
Options :
42558942656. 1
42558942657. 2

42558942658. 3
42558942659. 4



Question Number : 76 Question Id : 42558910960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942656. 1
42558942657.2
42558942658. 3
42558942659. 4

Question Number : 77 Question Id : 42558910961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The subordination of women by men as the primary inequality in human society is the main tenet of
which approach in geography ?
(1) Humanism
(2) Structuralism
(3) Feminism
(4) Postmodernism
Options :
42558942660. 1
42558942661. 2

42558942662. 3
42558942663. 4

Question Number : 77 Question Id : 42558910961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HITe HHIS W Wi THeE ST o €9 H qEu g1 Afectisti i e §iie | fFg 3ur @ e fasia
€7

(1) wHEFERE

(2) HEAER

() @R

(4) ST YR
Options :

42558942660. 1
42558942661. 2
42558942662. 3
42558942663. 4



Question Number : 78 Question Id : 42558910962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who named his new scientific geography as “Erdbeschreibung” ?
(1) Hettner
(2) Ratzel
(3) Ritter
(4) Humboldt
Options :
42558942664. 1
42558942665. 2

42558942666. 3
42558942667. 4

Question Number : 78 Question Id : 42558910962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
foFam &1 el ek 9fiiet 1 sTSeg=laT "’ (“Erdbeschreibung”) %l Hafl &1 off ?
(1) W

Q) @S

@) f=

(4) e
Options :

42558942664. 1
42558942665. 2
42558942666. 3
42558942667. 4

Question Number : 79 Question Id : 42558910963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The first concrete step to protect ozone layer was ?
(1) Paris climate Agreement
(2) Kyoto Protocol
(3) Rio Summit
(4) Montreal protocol
Options :
42558942668. 1
425589426609. 2

42558942670. 3
42558942671. 4



Question Number : 79 Question Id : 42558910963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TSI 9d 1 TLAY1 4 h1 Toum © 9e9Y 39 99y o ?

(1) R Serar T

(@) FrE R

(@) T gmer

(4) TIfZTe TR
Options :

42558942668. 1
42558942669. 2
42558942670. 3
42558942671. 4

Question Number : 80 Question Id : 42558910964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The concept of ‘Ecological niche’ was first introduced by :
(1) J. Grinel

(2) Haeckel

(3) Odum
(4) Macfadyen
Options :

42558942672. 1
42558942673.2
42558942674. 3
42558942675. 4

Question Number : 80 Question Id : 42558910964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" orfefeerfaeta feRa "’ (‘Ecological niche’) %1 HehedH1 Had Yget fheeh gI0 W&qd =i 7% & ?

(1) LT
(2) wFa

(3) rgH

(@) HFErEIA
Options :

42558942672. 1
42558942673.2
42558942674. 3
42558942675. 4



Question Number : 81 Question Id : 42558910965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The concept of sea floor spreading was first propounded by
(1) Hary Hess
(2) J.T. Wilson
(3) E.B.Taylor
(4) Dutton
Options :
42558942676. 1
42558942677.2

42558942678. 3
42558942679. 4

Question Number : 81 Question Id : 42558910965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT aet GO0 1 GehedHl Had Uea] B0 gfadiied =1 T2 o |
(1) Thgm
() 3. foewm
@) UL TR
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Options :

42558942676. 1
425589426717.2
42558942678. 3
42558942679. 4

Question Number : 82 Question Id : 42558910966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Due to the practice of head hunting in the past, compact settlements developed at the tops of hills
and ridges in which state ?

(1) Tamil Nadu

(2) Nagaland

(3) Orissa

(4) Andhra Pradesh

Options :

42558942680. 1

42558942681. 2

42558942682. 3
42558942683. 4



Question Number : 82 Question Id : 42558910966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sidtd § gl &l WU & R0 fFy U9 = Yeiedl AR Fehl #1 Afedl 9 o agree foasiad g3 2
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Options :

42558942680. 1
42558942681. 2
42558942682. 3
42558942683. 4

Question Number : 83 Question Id : 42558910967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The concept of urban Agglomeration in India was adopted for the first time in which census year ?
(1) 1951

@) 1961
@) 1971
4) 1981

Options :

42558942684. 1
42558942685. 2
42558942686. 3
42558942687. 4

Question Number : 83 Question Id : 42558910967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WA H THE 998 i Gehedl 9ad Ygdl 68 S0 a9 H forfad =1 7 off ?

1) 1951
@) 1961
@) 1971
@) 1981

Options :

42558942684. 1
42558942685. 2
42558942686. 3
42558942687. 4



Question Number : 84 Question Id : 42558910968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who gave the concept of “City-Region” ?
(1) Dickinson
(2) Gottman
(3) Geddes
4) Zipf
Options :
42558942688. 1
42558942689. 2

42558942690. 3
42558942691. 4

Question Number : 84 Question Id : 42558910968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“orer-yew" Y Yeheqn frua & ot ?

(1) Tefraa
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@4 foom
Options :

42558942688. 1
42558942689. 2
42558942690. 3
42558942691. 4

Question Number : 85 Question Id : 42558910969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Government of India approved the Bharatmala Pariyojana covering the length of 34,800 kms in
which year ?

(1) 2015
@) 2017
@) 2019
@) 2021

Options :

42558942692. 1
42558942693. 2
42558942694. 3
42558942695. 4



Question Number : 85 Question Id : 42558910969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A TR A TR a9 34,800 . H1. Sia o1 ol FIH STcl] YRAHTE GRS & SHiied fohar o ?

(1) 2015
(2y 2017
@) 2019
@) 2021

Options :

42558942692. 1
42558942693. 2
42558942694. 3
42558942695. 4

Question Number : 86 Question Id : 42558910970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The city of Mumbai is located in the centre of which region ?
(1) Kathiwar
(2) Konkan
(3) Northern Circars
(4) Vidarbha
Options :
42558942696. 1
42558942697. 2

42558942698. 3
42558942699. 4

Question Number : 86 Question Id : 42558910970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hag vt forg & meA W feem ¥ 7

(1) rieamETg
(2) i
(3) ST R
@) foed
Options :

42558942696. 1
42558942697.2
42558942698. 3
42558942699. 4



Question Number : 87 Question Id : 42558910971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the Public Sector dockyards in India which Shipyard has the highest capacity for
ship-repairing ?

(1) Goa Shipyard Ltd.

(2) Mazgaon Dock

(3) Hindustan Shipyard Ltd.

(4) Cochin Shipyard Ltd.

Options :

42558942700. 1
42558942701.2
42558942702. 3
42558942703. 4

Question Number : 87 Question Id : 42558910971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
YR | WS & F deuTel § § 5 dems/Meters (foromre) &1 swrs)/ dia-Howd e SIfHedad € ?
(1) e fogars fafnee

o

Options :

42558942700. 1
42558942701. 2
42558942702. 3
42558942703. 4

Question Number : 88 Question Id : 42558910972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the given definition, choose the correct one that precisely defines Standard Deviation :

(1) The standard deviation is the positive square root of the mean of the squares of deviations
from the mean

(2) Itis that value of a variable which occurs maximum number of times

(3)  Itis the value which divides the number of observations in such a way that half the value are
less than this value and half of them are more

(4) A measure of dispersion derives from the average of deviations from some central value

Options :

42558942704. 1
42558942705. 2
42558942706. 3
42558942707. 4



Question Number : 88 Question Id : 42558910972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefefiga aftummsii § 9 w9 fo=em & 9oy ¥l ol ¥ T2 A Srell It o =99 &Y
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e B 2 |
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Options :

42558942704. 1
42558942705. 2
42558942706. 3
42558942707. 4

Question Number : 89 Question Id : 42558910973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The horizontal air photos are also called as
(1) Trimetrogen air photos

(2) Convegent air photos

(3) Oblique air photos

(4) Terrestrial air photos

Options :

42558942708. 1

42558942709. 2

42558942710. 3
42558942711. 4

Question Number : 89 Question Id : 42558910973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

aiferstta arg fesll off el I 2 |
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Options :

42558942708. 1
42558942709. 2
42558942710. 3
42558942711. 4



Question Number : 90 Question Id : 42558910974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which year India became a signatory to Ramsar convention for conserving potential wetlands ?

(1) 1980

@) 1982
@) 1992
@) 2001

Options :

42558942712. 1
42558942713.2
42558942714. 3
42558942715. 4

Question Number : 90 Question Id : 42558910974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

form = W R A SR Y o ST B THER FEvE R EEar Ry 92

(1) 1980
(2) 1982
3 1992
@) 2001

Options :

42558942712. 1
42558942713.2
42558942714. 3
42558942715. 4

Question Number : 91 Question Id : 42558910975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following major gases as per their volume in the atmosphere in increasing order :

A.  Carbon Dioxide
B. Argon

C. Nitrogen

D. Oxygen

E. Hydrogen

Choose the correct answer from the options given below :
(1Y E ABD,C

2 AEBD,C

3) BAEDC

4 AEBCD

Options :

42558942716. 1

42558942717. 2

42558942718. 3
42558942719. 4



Question Number : 91 Question Id : 42558910975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fefefea wq@ 16 1 argree | 376 e o STIER 9@d hH H Hafed i
A, e SIS SRS

B. M

C. A

D. e

E. BESRH

= feu 7o foredi ®§ 9 W& IW T ¢

(1) EABD,C
@) AEBD,C
() B,AED,C
4 AEBCD

Options :

42558942716. 1

42558942717. 2

42558942718. 3
42558942719. 4

Question Number : 92 Question Id : 42558910976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following theories related to urban settlement in chronological order as per the year it
was proposed (old to new) :

A.  The sector theory

B. Rank size rule

C.  The multiple nuclei theory

D.  The concentric or zonal theory

Choose the correct answer from the options given below :
(1) ABCD

2y DACB

3) ACBD

4 DCA,B

Options :

42558942720. 1
42558942721.2
42558942722. 3
42558942723. 4



Question Number : 92 Question Id : 42558910976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T e § Hafya frefafeas fasgid =1 2% gfaofed fe S & = o Feed (904 8 1) H sqafted
Eog

A, @ve (d9) fag@
B. 49T SRR WOME

C. o8 %= agid
D. Hehf=a fagia
T feu o fomredi § | WE I T ¢

(1) A,BCD
@ DACB
3) ACB,D
(4) D,C A,B
Options :
42558942720. 1
42558942721. 2

42558942722. 3
42558942723. 4

Question Number : 93 Question Id : 42558910977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following stages of growth of cities as propounded by Mumford :

A, Polis

B. Metropolis
C.  Tyrannopolis
D.  Eopolis

E. Megalopolis

Choose the correct answer from the options given below :
1y A,DBEC

(2 D,AEBC

3} D.AB.EC

4 ADEBC

Options :

42558942724. 1

42558942725.2

42558942726. 3
42558942727. 4



Question Number : 93 Question Id : 42558910977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AR g Gfaaifed wedi = gfe & Fefafad =2l =1 e =L

A Hifag

B. HErdie™

C. arEAEmNfad

D. 33

E.  WmHfas

= feu o fasredi H 9 W& W T

() AD,B,EC
2) D,AEB,C
() D,A,BEC
4 AD,ERB,C
Options :
42558942724. 1
42558942725. 2

42558942726. 3
42558942727. 4

Question Number : 94 Question Id : 42558910978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Greek geographers in chronological order (Earlier to Latest) :
A. Herodotus

B. Eratosthenes

C. Hippocrates

D.  Ptolemy

Choose the correct answer from the options given below :
() ACBD

2y ABCD

(3) ADBC

4 ACD,B

Options :

42558942728. 1

42558942729.2

42558942730. 3
42558942731. 4



Question Number : 94 Question Id : 42558910978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefiaa ZArT spireaie sl FERATTaR ( 3TRIYE § SA4dH) AT Hi

A, TUERH

B. ST

C. fewehzy

D. i

= feu o foredi W B W& IW T ¢

(1) ACBD
@) ABCD
() A,D,B,C
4 ACD,B
Options :
42558942728. 1
42558942729. 2

42558942730. 3
42558942731. 4

Question Number : 95 Question Id : 42558910979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Zones of land use around the central city based on Von Thunen’s theory
(from centre to periphery) :

Firewood and Timber production

Crop Farming, Fallow and Pasture

Three Field System

Crop Farming without fallow

mON® P

Livestock Ranching

Choose the correct answer from the options given below :
ty &DCBE

2 ABCD,E

3 ABDCE

4 ADBCE

Options :

42558942732. 1

42558942733.2

42558942734. 3
42558942735. 4



Question Number : 95 Question Id : 42558910979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A g7 T95id & SHR W F=[E el ok SHIH YiH 391 & Hefefed & @ =afen (F= 9 9
i 3R) I :
A, ST TSl 3R FHES SeTeH

B. W IEA Il 3R 9RTE
C. 4 &3 gomet

D. Wl & fa wEe A

E. T 9T

9 feu o foredi # | WE IW T ¢

() A D,CB,E
@) ABCD,E
@ ABDCE
4) AD,B,CE
Options :
42558942732. 1
42558942733. 2

42558942734. 3
42558942735. 4

Question Number : 96 Question Id : 42558910980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following states of India in ascending order on the basis of sex ratio as per 2011
Census :

A, Kerala

B. Tamil Nadu

C.  Chbhattisgarh

D.  Andhra Pradesh

Choose the correct answer from the options given below :
() C,D,B A
2y D,C,B.A
(3) D,CA,B
4 DBCA

Options :

42558942736. 1
42558942737.2
42558942738. 3
42558942739. 4



Question Number : 96 Question Id : 42558910980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freferfiga ™ Tl =61 2011 3l SHTUAT o STER T o 314”9 TR0l oH H oFaied &

A FA

B. dMHeAg

C. wHETR

D. oY ed

= feu o foredi W B W& IW T ¢

() C,D,BA
@ D,CBA
3) D,C A,B
4) D,BCA
Options :
42558942736. 1
42558942737.2

42558942738. 3
42558942739. 4

Question Number : 97 Question Id : 42558910981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Health Care Policies of India in chronological order on the basis of their
launch year ?

A.  Pradhan Mantri Garib Kalyan Package Insurance scheme
B. Mission Indradhanush

C.  Ayushman Bharat - Digital Mission

D.  Ayushman Bharat - Pradhan Mantri Jan Arogya Yojana
Choose the correct answer from the options given below :

(1) B,D,CA

2y B,DA,C

3) D,BA,C

4 D,BCA

Options :

42558942740. 1
42558942741.2
42558942742. 3
42558942743. 4



Question Number : 97 Question Id : 42558910981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

R o FEfafEa @ cayre 9l i 3% SR 6T ST % 99 o ST{ER Fehd § SFeied &

A, TEFEE TS e Uehe | A
B. THum sgerw
C. 3gwHH YRd - fefsed fiasm

D. SHE YRd — GHEE S4 ARG AS

9 feu o fompedi # | WG IW T ¢
(1) B,D,CA

@) B,DA,C

() D,B,A,C

4) D,BCA

Options :

42558942740. 1
42558942741. 2
42558942742. 3
42558942743. 4

Question Number : 98 Question Id : 42558910982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following indigenous people of India on the basis of their primary habitat from South
to North ?

A, Minas
B. Todas
C. Bakarwals
D. Nagas

Choose the correct answer from the options given below :
(1) A BCD

20 ABDC

3 B ACD

4 BADC

Options :

42558942744. 1

42558942745. 2

42558942746. 3
42558942747. 4



Question Number : 98 Question Id : 42558910982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

R & frefafaa gor fardt o =1 gfaro @ 390§ 37 M STey & SR W sgaftdd &

A, Hom

B. 3

C. wehidle]

D. A

= feu o foredi W B W& IW T ¢

(1) ABGCD
@) ABD,C
() B,ACD
4 B,AD,C
Options :
42558942744. 1
42558942745. 2

42558942746. 3
42558942747. 4

Question Number : 99 Question Id : 42558910983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Natural Hazards/ Disasters of India in chronological order (earlier to latest) :
A.  Tsunami (off Tamil Nadu Coast)

B.  Bhuj Earthquake

C.  Super Cyclone of Orissa

D.  Koyna Earthquake

Choose the correct answer from the options given below :

(1) CD,AB
@ D,CB,A
3y B ACD
@) A,B,D,C
Options :

42558942748. 1
42558942749. 2
42558942750. 3
42558942751. 4



Question Number : 99 Question Id : 42558910983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRa ki FAfafEd gekfaes sraesii/ @al &1 Fesagarn (J0H § 91) aferd &1

A, I (afFeg @ W)

B. 3

C.  ifeen s g9 =kam

D. I g

= feu U fomredi # | WG SW T ¢

() CDA,B
@ D,CBA
() B,ACD
4) A,BD,C
Options :
42558942748. 1
42558942749. 2

42558942750. 3
42558942751. 4

Question Number : 100 Question Id : 42558910984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following tributaries of River Ganga from West to East ?

A. Sarda
B. Gandak
= Gomati

D.  Ghaghara
Choose the correct answer from the options given below :
() C.ABD
@2 CADB
3 ACBD
4 ACD,B

Options :

42558942752. 1
42558942753. 2
42558942754. 3
42558942755. 4



Question Number : 100 Question Id : 42558910984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T et o frefertEa werds Afedi i ufvem § Y & % § sHafed

A 9TE
B. TE%F
C. T
D. HE
= feu U fasredi @ 9 WE W T ¢

(1) CA,BD
@ CA.D,B
(3) A,CB,D
4 ACD,B
Options :
42558942752. 1
42558942753. 2

42558942754. 3
42558942755. 4

Question Number : 101 Question Id : 42558910985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following states on the basis of their total area in ascending order :
A, Uttarakhand

B. Jharkhand
= Telengana
D.  Chhattisgarh

Choose the correct answer from the options given below :

(1) ABCD
@ BACD
3) ABDC
@) B,AD,C
Options :

42558942756. 1
42558942757.2
42558942758. 3
42558942759. 4



Question Number : 101 Question Id : 42558910985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafea T 1 396 Fe1 &wel o SR W STRIE 1 T SAaieerd &1 ;

A TWEE
B. #RES
C. aaTm
D. e
= feu U fasredi @ 9 WE W T ¢

(1) ABGCD
@ BACD
(3) A,B,D,C
4) B,AD,C
Options :
42558942756. 1
42558942757. 2

42558942758. 3
42558942759. 4

Question Number : 102 Question Id : 42558910986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following world cities in descending order on the basis of their size of population :
A, Delhi

B. Dhaka

C. Tokyo

D.  Shanghai

Choose the correct answer from the options given below :
() A.CBA

@2 CADB

3 ADCB

4 CDBA

Options :

42558942760. 1
42558942761. 2
42558942762. 3
42558942763. 4



Question Number : 102 Question Id : 42558910986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frferfaa fava el = 37T STEEn F SR F AN R 375 w0 § afiem #i

A Tee

B.  GIH

C. 2ifea

D. ¥EE

9 feu o fosredi # 9 wE S A ¢

(1) ACBA
@ ©A.D,B
(3) A,D,CB
4 CD,BA
Options :
42558942760. 1
42558942761. 2

42558942762. 3
42558942763. 4

Question Number : 103 Question Id : 42558910987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following major ports of India from North to South :

A.  Marmagao

B. Vishakhapatmam
C.  Paradwip

D. Kandla

E. Mangalore

Choose the correct answer from the options given below :
ity DCBAE

2 D,CBEA

3} CDBEA

4) C, DB AE

Options :

42558942764. 1

42558942765. 2

42558942766. 3
42558942767. 4



Question Number : 103 Question Id : 42558910987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

R & fefafad meraeql & 3T 9 SR & 0 o sgafted

A, HEFTE

B. TawmEm e

C. YREM

D. e

E. @R

= feu o fasredi H 9 W& W T

() D,C,BA,E
) D,CB,E A
() CD,BEA
4 CDBAE
Options :
42558942764. 1
42558942765. 2

42558942766. 3
42558942767. 4

Question Number : 104 Question Id : 42558910988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following important peaks in ascending order of altitude ?
A. Nanda Devi

B. Badrinath

C.  Kanchenjunga

D. Namcha Barwa

Choose the correct answer from the options given below :
(' B,ADC

2y B DCA

(3) D,BA,C

4) BDA,C

Options :

42558942768. 1
42558942769. 2
42558942770. 3
42558942771. 4



Question Number : 104 Question Id : 42558910988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fretferfiaa el =i 1 S % e sn § et w1 ;
A TR EEr
B. WEMY
& e

D.  AH= FEEl
% few T fore H @ wE IR T -
(1) B,AD,C
@ BDCA
() D,B,A,C
4) B,D,AC
Options :
42558942768. 1
42558942769. 2

42558942770. 3
42558942771. 4

Question Number : 105 Question Id : 42558910989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following maps on the basis of their scale in descending order (Large to Small scale)

A.  Topographical Map

B. Atlas Map

C.  Cadastral Map

D.  Wall Map

Choose the correct answer from the options given below :
(1 A.D,B.C

@2 CADB

3 ACBD

4 CDA,B
Options :

42558942772. 1
42558942773.2
42558942774. 3
42558942775. 4



Question Number : 105 Question Id : 42558910989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfefaa THfEsl #1 37F T0H & TR R SEE %9 (Jes 9 oY TE) § et i

A, TAEaE wEEA

B. UZeH HHAT=HA

C. 9 (FesEd) "l

D. @R #AEfEE

=1 fou o fosredi W 9 W& 3 T ¢

(1) AD,BC
@ ©A.D,B
(3) A,CB,D
4 CDA,B
Options :
42558942772. 1
42558942773.2

42558942774. 3
42558942775. 4

Question Number : 106 Question Id : 42558910990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the following statements choose the correct with reference to Mediterranean Biome :
A.  Mediterranean biome is also called as sclerophyl biome.

B.  This biome includes the European lands bordering the Mediterranean sea.

C.  Plants of the Mediterranean biome have special types of root system.

D.  Mediterranean biome extends between 10°N and 10°S latitudes in both the hemispheres.
Choose the correct answer from the options given below :

(1) B,Cand D Only

(@) A ,CandD Only

(3) A, BandD Only

4) A BandCOnly
Options :

42558942776. 1

425589427717. 2

42558942778. 3
42558942779. 4



Question Number : 106 Question Id : 42558910990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefiea oAl § 9 g 9rdE odm & 9] H g weEl 999 B
A, YUY GRRE W F Sl s ot FE ST

B. 3HH ywey IR &t He W e gindtg gft ofhe 2

C. yA¥ 9 arEm & didl # fasm yehr o6 stg/Im gonet! S §
D. YA¥ GRRE 9EM SE Al § 10°N 8 10°S & &= faeid g
= fau o foeredi W | W& IW T ¢

(1) o@a B, C3RD

(2) wFA A, CHRD

(3) aA A, BIRD

@) FaAA,B3RC

Options :

42558942776. 1
42558942777.2
42558942778. 3
42558942779. 4

Question Number : 107 Question Id : 42558910991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the given options identify the important components of the Green Revolution in India ?
Land Reforms

Command Area Development

Drought Prone Area Programme

Rural Electrification

Urban Roads and Marketing

Choose the correct answer from the options given below :
(1) A BandCOnly

(2) C DandEOnly

(3) A, Band D Only

(4) B,DandE Only

moNwp

Options :

42558942780. 1
42558942781.2
42558942782. 3
42558942783. 4



Question Number : 107 Question Id : 42558910991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freaferfiaa ol § 9 e # efta wifa % weege segal Fi geam

A 9H gER

B. wHie & fawm

C. 9@ yau & FHriEH

D. o faeieRTa

E. W&l 95+ IR fagum

= feu o fomredi # | W& IW T ¢
(1) FHaa A, BIRC

(2) FAC, D 3RE

() Fa@A,B3RD
(4) ae B, D SRE

Options :

42558942780. 1
42558942781. 2
42558942782. 3
42558942783. 4

Question Number : 108 Question Id : 42558910992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the cold currents among the given ocean currents of the world :

A, Brazil current
B. Falkland current
= Benguela current

D. California current

Choose the correct answer from the options given below :
(I) A, BandD Only

(2 B,CandD Only

(3) A, Cand D Only

(4) A, BandCOnly
Options :

42558942784. 1

42558942785. 2

42558942786. 3
42558942787. 4



Question Number : 108 Question Id : 42558910992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fava =71 fafafes Temrda gmsT § 4 svet amsi = =21 #

A, SIS 4T

B. RIS U

C. suen ¥m

D. ShefeRIfa1 m

= fau o foeredi W | W& IW T ¢
(1) FaA A, B3RD

() %Fad B, C3HRD

(3) FdA A, C3RD

) FaAA,BERC

Options :

42558942784 1
42558942785.2
42558942786. 3
42558942787. 4

Question Number : 109 Question Id : 42558910993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Several international boundaries follow large and small rivers, choose the correct one :
A. R Sutlej between India and Pakistan

B. R. Salween between Myanmar and Thailand

C. R. Amur and R. Ussuri between China and Russia

D. R.Congo between Zambia and Congo

Choose the correct answer from the options given below :

(1) B,Cand D Only

(2) A, BandD Only

(3) A,CandD Only

4) A BandCOnly

Options :

42558942788. 1
42558942789. 2
42558942790. 3
42558942791. 4



Question Number : 109 Question Id : 42558910993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

agd TRI ST WA oSt SR S Afedi 1 STTE0 H €, 9o FUAT FH T H
A, YR AR Wi F o= gaers ol

B. AR 3R UrEeie ¥ o= wetad Ta

C. ¥ 3R ®9 % o9 3R &1 oK 3gd 7
D. Shfraan $iR i & s i a6

= fou o fasmedi § 9 W@ IW T ¢

(1) o@a B, C3ARD

() FHaA A, BIRD

(3) FdA A, C3RD

) FaAA,BERC

Options :

42558942788. 1
42558942789. 2
42558942790. 3
42558942791. 4

Question Number : 110 Question Id : 42558910994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Kates Behavioristic approach to Geography is based on which of the following assumptions :
A.  Men Makes Choices

B.  Choices are made on the basis of knowledge

C.  Men are rational while taking decision

D. Information is neither evaluated nor determined

Choose the correct answer from the options given below :

(1) B,Cand D Only

(2) A, BandD Only

(3) A, BandCOnly

4) A CandD Only

Options :

42558942792. 1
42558942793.2
42558942794. 3
42558942795. 4



Question Number : 110 Question Id : 42558910994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el 1 Feg Faerd) sarH Frefefed § & & gd arometi w snenfa €2

A g ITI A E

B. =M, I % YR W T o §

C. =, v o 9v 9 9a B ©

D.  ga A @ yedifehd & Sl @ 3K 7 81 fuifta =1 s @
= feu U fomredi # | WG SW T ¢

(1) o@a B, C3ARD

() FHaA A, BIRD
(3) HFA A, BIRC
@) FaA A, CeRD

Options :

42558942792. 1
42558942793.2
42558942794. 3
42558942795. 4

Question Number : 111 Question Id : 42558910995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements with reference to Geographical cycle of Davis :

A, Landscape is a function of structure, process and time
B. Landforms are evolved by interaction of endogenetic and exogenetic forces
C.  Noriver can erode its valley beyond base level (sea level)

D.  Davis used the term primarumpf to represent the characteristic landscape before upliftment.
Choose the correct answer from the options given below :
(1) A, BandCOnly
(2) B,Cand D Only
(3) A,CandD Only
4) A, BandD Only
Options :
42558942796. 1
42558942797. 2

42558942798. 3
42558942799. 4



Question Number : 111 Question Id : 42558910995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sfor & iriiferer =k & ded | O@ weFl F1 =T #

A, YIREeT ST, 9fwar 3R 99E i T €

B. Y-TeNEiqdl siasa iR afesia I i sfafdan ¥ faswfaa 2 €1

C. % ofi 751 MR a1 (THE ) § = =11 o1 3T Tl L Fohell & |
D. Sfo| q I 9 Y8 9 Y-S i a0 & T aeaieE ves o 9T e |
= fou o fasmedi § 9 W@ IW T ¢

(1) FFa A, B3RC

() %Fad B, C3HRD

(3) FdA A, C3RD

) FaAA,B3RD

Options :

42558942796. 1
42558942797.2
42558942798. 3
42558942799. 4

Question Number : 112 Question Id : 42558910996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following statements are NOT true ?

A.  Fog is cloud at ground level

B. Dew is the indirect deposition of water droplets onto a surface
C.  Frostis a deposit of water droplets on vegetation

D.  Snow is frozen precipitation

Choose the correct answer from the options given below :

(1) BandCOnly

(2) AandBOnly

(3) Band DOnly

4) AandD Only
Options :
42558942800. 1
42558942801. 2
42558942802. 3
42558942803. 4



Question Number : 112 Question Id : 42558910996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa § 4 #9-9 FeH o0 76 €7

A, T, THA F THY F TET ¢

B. 39, Hag T el F sai o STUa a7
C.  qui/9Tel, aF9afd T Sl i g8l 61 49 8 |
D. fen, s gen (feweifaa) = 21

9 feu o fompedi # | WG IW T ¢
(1) FHaA BIRC

(2) IS A R B

(3) HIA BIRD

@) Fad A RD

Options :

42558942800. 1
42558942801. 2
42558942802. 3
42558942803. 4

Question Number : 113 Question Id : 42558910997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following statements are correct regarding Jet Streams ?

A.  Jet stream are strong, regular winds which blow in the upper atmosphere
B.  There are two jet streams in each hemisphere

C.  The jet streams result from differences in equatorial and sub tropical air and between polar

and sub-tropical air

D.  Greater the temperature difference, weaker the jet stream

Choose the correct answer from the options given below :

(1) A, BandD Only

(@) A BandCOnly

(3) B,Cand D Only

4) A CandD Only
Options :
42558942804. 1
42558942805. 2

42558942806. 3
42558942807. 4



Question Number : 113 Question Id : 42558910997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S12 aTe % an # frefafed § § $H-9 FUH ' ©2

A, e yare v, fafia ag ' S sed aaHea | sud

B.  TcUe Tend # & S gee @ |

C. ¥ yaE, favedieEa ot 3u-swkfessig arg au1 ¥etg oK 3u-3swrkfeadia arg % = ofat &

IROTTREEY e B & |
D. dm9HE H S sifyes iat 8, Stz o gelre 3a1 S 8 |
=1 fou o fosredi W 9 el 39 T ¢
(1) A A, B3RD
(2) HFAA,BIRC

() %ad B, C3RD
(4) oEd A, C3RD

Options :

42558942804. 1
42558942805. 2
42558942806. 3
42558942807. 4

Question Number : 114 Question Id : 42558910998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is true about Rossby waves ?

A.  Rossby waves are meandering rivers of air

B.  There are two to four waves in each hemisphere

C.  They are formed by major relief barriers such as the Rockies and the Andes.
D.  They are formed by thermal differences and uneven land-sea interfaces
Choose the correct answer from the options given below :

(1) A, CandD Only

(2) A, BandD Only

(3) A,BandCOnly

(4) B,Cand D Only

Options :

42558942808. 1
42558942809. 2
42558942810. 3
42558942811. 4



Question Number : 114 Question Id : 42558910998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el T &% 9 H 31 6> © 7

A, TESET T 9 EEER et €

B. U e W & ¥ 9R a1 el €

C. & @ s=ad ardnel S Wenrs @ik v g fafifa @t ®

D. A amig sfad & sramd Yf-aer etk & #ro fAfifa ad §
9 feu o fompedi # | WG IW T ¢
(1) FFa A, C3RD

() FHaA A, BIRD
(3) HFA A, BIRC
(4) e B, C 3D

Options :

42558942808. 1
42558942809. 2
42558942810. 3
42558942811. 4

Question Number : 115 Question Id : 42558910999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arid conditions are caused by a number of factors like :
A.  global atmospheric circulation

B. continentality

C.  warm offshore currents

D.  rain shadow effects

Choose the correct answer from the options given below :
(1) A, BandCOnly

(@) A, CandD Only

(3) B,Cand D Only

4) A, BandD Only

Options :

42558942812. 1
42558942813.2
42558942814. 3
42558942815. 4



Question Number : 115 Question Id : 42558910999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e et fafvm Sreri & o soqe it €, 59

A, Sfvas IgHeEdE giE=

B.  Wewmrdraal

C. TH uae ¥R

D. dfesE guE

=1 fou o fosredi W 9 W& 3 T ¢
(1) FFa A, B3RC

(2) wFA A, CHRD
() %Had B, C3RD
) FaAA,B3RD

Options :

42558942812. 1
42558942813.2
42558942814. 3
42558942815. 4

Question Number : 116 Question Id : 42558911000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct for language ?

A.  Itisa distinct linguistic form peculiar to a region or social group.
B. It is a great form of socialization.

C.  Itisa critical cultural element.

D.  Itis necessary for historical transmission and cultural accumulation.
Choose the most appropriate answer from the options given below :
(1) A, BandCOnly

(@) A, CandD Only

(3) B,Cand D Only

4) A, BandD Only

Options :

42558942816. 1
42558942817.2
42558942818. 3
42558942819. 4



Question Number : 116 Question Id : 42558911000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T % fou frefafea § § $H-9 F99 G 2

A, T Tt & = grfser vy w1 faftre srfasr gy # |
B. ¥E UHISIHY &l &el €9/ UMY ¢ |
e

IE Uk Hecaqul SIS 7 § |
D. 98 Ufaerdes H99v 3R HikHias =4 & fou seeas ¢ |
9 feu o fompedi # | WG IW T ¢
(1) FFa A, B3RC

(2) wFA A, CHRD
() %Had B, C3RD
) FaAA,B3RD

Options :

42558942816. 1
42558942817.2
42558942818. 3
42558942819. 4

Question Number : 117 Question Id : 42558911001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following views is NOT associated with the possibilist Paradigm ?

A.  The physical environment tends to provide the opportunity for a range of possible human

responses.
B. Man is not a passive being but an active force.
C. Man is not a free agent.

D.  Man modifies the face of the Earth.

Choose the most appropriate answer from the options given below :
(1) A, BandCOnly

(2) B,Cand D Only

(3) A, BandD Only

4) A CandD Only

Options :

42558942820. 1
42558942821.2
42558942822. 3
42558942823. 4



Question Number : 117 Question Id : 42558911001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa § 9 #9-9 faur gyremamEn afoam § geg & 8 2

A, Yifae iR, Suifaa AR Tl # SEal & fau 2798y 9eq i |
B. WMa U fafwra sifeae 71 afcs wfra s7a1 €

C. WMa U @ad Ay el ¢ |

D. WM, gt % M S TUiaid F © |

9 feu o fompedi # | WG IW T ¢
(1) FFa A, B3RC
() %Fad B, C3HRD

(3) aA A, BIRD
(4) =FE A, C 3D

Options :

42558942820. 1
42558942821.2
42558942822. 3
42558942823. 4

Question Number : 118 Question Id : 42558911002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the local winds which are hot ?

A.  Sirocco

B. Bora

C. Santa Ana

D. Khamsin

Choose the most appropriate answer from the options given below :
(1) A, BandD Only

(@) A BandCOnly

(3) B,Cand D Only

4) A CandD Only

Options :

42558942824. 1
42558942825. 2
42558942826. 3
42558942827. 4



Question Number : 118 Question Id : 42558911002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e # & o e el T Teed #Y
A TEER

B. @

C. Hid Al

D. @WHfEA

=1 fou o fosredi W 9 W& 3 T ¢
(1) FaA A, B3RD

() FHaA A, BIRC

(3) %Had B, C3RD
@) FaA A, CeRD

Options :

42558942824. 1
42558942825.2
42558942826. 3
42558942827. 4

Question Number : 119 Question Id : 42558911003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are correct with reference to circum pacific belt ?
A.  Circum-Pacific belt accounts about 80% of the active volcanoes of the world.
B. This belt is also called as the “fire girdle” of the Pacific Ocean.

C. Here volcanoes are primarily caused due to collision of convergent plates along the Benioff
Zones.

D.  This zone is also known for divergent plate margins.

Choose the most appropriate answer from the options given below :
(1) A, BandCOnly

(2) B,Cand D Only

(3) A, CandD Only

4) A, BandD Only

Options :

42558942828. 1
42558942829. 2
42558942830. 3
42558942831. 4



Question Number : 119 Question Id : 42558911003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

aftgeria ¥t % deof § frfofes § 4 #9-9 Fs am €?

A, OR-usia TS § fava % ST 80% TiRT sarerdr feua ¥ |

B.  TH U UG HEMTR i ' Af men”’ off we S €

C. T=H ®9 9 76l a1 &5 & | S1ve wiel & 2 o I SaTemgal 3o 8 € |
D. I8 &3 ST9ORl wie Wmiel % HRor off S S 2

9 feu o fompedi # | WG IW T ¢
(1) FFa A, B3RC
() %Fad B, C3HRD

(3) FdA A, C3RD
) FaAA,B3RD

Options :

42558942828. 1
42558942829.2
42558942830. 3
42558942831. 4

Question Number : 120 Question Id : 42558911004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements regarding ‘National Population Register” (NPR) and choose the
correct one :

Objective is to prepare a register of all residents of India.

The NPR is intended to serve as the basis for the National Register of Citizens (NRC).
The NPR was compiled in 2000 along side the 2001 census.

The creation of the NPR is mandated by the Citizenship Act 1965.

NPR was created post-2008 Mumbai attacks.

Choose the most appropriate answer from the options given below :

(1) A, DandE Only

(2) A,BandEOnly

(3) B,Cand D Only

(4) B,DandE Only

mONwp

Options :

42558942832. 1
42558942833.2
42558942834. 3
42558942835. 4



Question Number : 120 Question Id : 42558911004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘It S SRR (NPR) F 91§ frefafed wobi ® foar # oi ae sl & =99 8

A, 9RG F T Franfaal o e GO A =TI '

B. UAW.SIR. T WIS WL AREF PRt (NRC) i SR 3 ®9 H F 3 &
C. TAYL.SR. 2001 F1 SHFIET % | 2000 H Hepfera feram mam o
D.  mifierar siffrem 1965 # w.dt am. fafor 7 arfeee €

E.  TAW.3R. 2008 % HaE ABHTT F =S -E1 T4 7 |

1 feu T foeredi % 9 W& 3T A ¢

(1) ad A, DSRE

(2) HaA A, BSRE

(3) <@ B, C 3D

(4) ae B, D SRE
Options :

42558942832. 1
42558942833.2
42558942834. 3
42558942835. 4

Question Number : 121 Question Id : 42558911005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following statements are correct with regard to ‘geopolitics’ ?
A.  The term "geopolitics’ was coined by Rudolf Kjellen

B.  'Geopolitic’ means the science of places

C.  ‘Lebensraum’ means living space

D.  According to German geopoliticians state had the biological necessity to grow
Choose the most appropriate answer from the options given below :

(1) A BandCOnly

(@) A, CandD Only

(3) A, BandD Only

(4) B,Cand D Only

Options :

42558942836. 1
42558942837.2
42558942838. 3
42558942839. 4



Question Number : 121 Question Id : 42558911005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
-l % ey 7 frfofeas # § F-9 99 9 € 2
A, Y-S IR TEIGE STer BRI TG T o |
B. 'y’ o el & Tl 1 e |
C. ‘corgusn’ @ e ¥ Sfifaq am v |
D. A Y-TSHIfaeneml & HJUR T3 &1 gig SR Stafoqeg S el ¢ |
= feu T fosedi # 9 W& W T ¢
(1) FFa A, B3RC
(2) wFA A, CHRD
(3) HaA A, BIRD
(4) e B, C 3D

Options :

42558942836. 1
42558942837.2
42558942838. 3
42558942839. 4

Question Number : 122 Question Id : 42558911006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Richard Hartshorne has recognized four distinct approaches to the study of political geography of a
State, these are =

Power analysis approach

Historical approach

Geographical approach

Functional approach

moNwp

Morphological approach

Choose the most appropriate answer from the options given below :
(1) A B,CandD Only

(2) A, B, CandEOnly

(3) A B,DandEOnly

(4) B,C DandEOnly

Options :

42558942840. 1

42558942841.2

42558942842. 3
42558942843. 4



Question Number : 122 Question Id : 42558911006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=g e A et U5 & UsTHifas ofiiel & s1eAeA o 9r fafre sunmi o6t W= #1894 €
A, v fargemor 3anm

B. Uferrgs sarm

C. s 3arm

D. YAl 3UMTH

E. ®9RHF SIH

= feu U fomredi § | |/E IW T ¢

(1) % A, B,C3RD
(2) aA A, B,C3RE
() %9 A, B, D3RE
(4) @@ B,C, D 3RE

Options :

42558942840. 1
42558942841.2
42558942842. 3
42558942843 4

Question Number : 123 Question Id : 42558911007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are NOT correct for the Indian Jute Industry ?

A.  Most of the jute producing areas went to Bangladesh, resulting in acute shortage of raw jute.
B.  The Ganga Brahmaputra delta grows about 10% of India’s jute and provides raw materials.
C.  The input cost for jute product in India is quite high.

D.  Dry climate is very convenient for spinning and weaving,.

Choose the most appropriate answer from the options given below :

(I) Band DOnly

(@ A, BandCOnly

(3) B,Cand D Only

(4) BandCOnly
Options :

42558942844. 1

42558942845. 2

42558942846. 3
42558942847. 4



Question Number : 123 Question Id : 42558911007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRATE w2 e F ey # fefefea § § SH-8 wub a0 T8 €7
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= fou o fasmedi § 9 W@ IW T ¢
(1) FIA BIRD

() FHaA A, BIRC

(3) %Had B, C3RD

(4) oFEE B #HRC

Options :

42558942844. 1
42558942845. 2
42558942846. 3
42558942847. 4

Question Number : 124 Question Id : 42558911008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following regions are known for large - scale agro - industrialisation ?
Mato - Grasso in Brazil

The Paris Basin

The Ganga Plains in India

The Murray - Datling Basin, Australia

The Pampas in Argentina

moN® P

Choose the most appropriate answer from the options given below :
(1) A B,CandD Only

(2) B,C,DandE Only

(3) A CandD Only

4) A B, D,EOnly
Options :
42558942848. 1
42558942849. 2

42558942850. 3
42558942851. 4



Question Number : 124 Question Id : 42558911008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa § § $-9 &7 geg-w Fu-sifremn F fou ufag 2
A, FTelie H HR-TTE

B. URw sfEq

C. 9ra ¥ W e

D. T-eifelt afgm, stefem

E.  ofeter § ey

= feu U fomredi § | |/E IW T ¢

(1) % A, B,C3RD
(2) ad B,C, D 3RE
() Fa@ A, C3RD
(4) a@ A,B,D,E

Options :

42558942848. 1
42558942849. 2
42558942850. 3
42558942851. 4

Question Number : 125 Question Id : 42558911009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the physical factors which affects the supply of energy in the world and choose the correct
statements ?

A.  Large power stations require undulating land but geologically stable foundations.
B.  Solar power needs a large number of days a year with strong sun light.

C.  Tidal power stations require a small tidal range.

D.  Deposits of fossil-fuels are only found in a limited number of locations.

Choose the most appropriate answer from the options given below :

(I) AandBOnly

(2) Band DOnly

(3) AandD Only

(4) CandBOnly

Options :

42558942852 1

42558942853. 2

42558942854. 3
42558942855. 4



Question Number : 125 Question Id : 42558911009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
forear 1 St SR B g A I Shfer ERE 3 Tea W ol Td we A
A oot fomr Seri 3 fore wnfa s o Spfores ©9 @ feor snuRiven sevrs g &
B. IR T feru ad § o g weprw e stferk fedt @ ererveeRar 2 €
C. oy foga ©yHl o fou S s 9m1 & sreavasd e & |
D. SaRA-3¥E & &9 Fae i T o 9 S € |

= fau o foeredi W | W& IW T ¢
(1) Faa A 3RB

(2) A BIRD

(3) FA A SRD

(4) oFd@ C 3B

Options :

42558942852. 1
42558942853. 2
42558942854. 3
42558942855. 4

Question Number : 126 Question Id : 42558911010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I :

List - I List- 11
Lake Type
A. Naina Lake L. Crater
B. Pulicate Lake I. Corrie
C. Lomnar Lake [II. Fresh-water
D.  Waular Lake IV. Lagoon

Choose the correct answer from the options given below :
(1) A, B-1V, C-L, D-II

(2) A-IL B-1V, C-1, D-III

(3) AL B-II, C-II, D-1V

4) A-IV, B-1IL, C-II, D-1

Options :

42558942856. 1

42558942857. 2

42558942858. 3

42558942859. 4



Question Number : 126 Question Id : 42558911010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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B. cliehe 3l I fewsmge (1)

C. @R g . E=s-9a (FHa-ame)
D. R #e V. oA

9 feu o famedi § 9 W@ T T

(1) A-I, B-IV, C-, D-11
(2) A-IL B-1V, C-L, D-III
(3) A-I B, C-II, D-IV
(4) A-IV, B-III, C-II, D-1

Options :

42558942856. 1

42558942857.2

42558942858. 3
42558942859. 4

Question Number : 127 Question Id : 42558911011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I :

List- I List-II
Terms Explanation
A. Death Rate L. Number of deaths per thousand population
B. Crude Birth Rate IL Ratio between number of births and number of female
in productive age
34 Natural Increase of Population III. Ratio between the numbers of Births and total
population
D.  General Fertility Rate IV.  Births over death per thousand of population

Choose the correct answer from the options given below :
(1) A-IV, B-1I, C-1, D-III

(2) A-L B-IV, C-1I, D-III

(3) A-IV, B-1II, C-[, D-II

4) AL BIIL C-1V, D-II

Options :

42558942860. 1

42558942861. 2

42558942862. 3
42558942863. 4



Question Number : 127 Question Id : 42558911011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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9 feu o fomredl # 9 WE SO ¢

(1) A-IV, B-II, C-I, D-III
@) A-LBIV,CILD-I
(3) A-IV,B-lII, C, D-1I1
4) A-I BIL C-1IV, D-11

Options :

42558942860. 1
42558942861. 2
42558942862. 3
42558942863. 4

Question Number : 128 Question Id : 42558911012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - IT :

List - 1 List - 11

Passes States
A. Jelep La L Himachal Pradesh
B.  Shipki La II. Jammu and Kashmir
C. Lipu Lekh 1L  Sikkim
D. Banihal Pass IV. Uttarakhand

Choose the correct answer from the options given below :
(1) A-II, B-1V, CL, D-1I

(2) A-1v, B-1lII, C-I, D-1I

(3) AL B-III, C-IV, D-1

(4) Al B-L, C-1V, D-1I

Options :

42558942864. 1

42558942865. 2

42558942866. 3

42558942867. 4



Question Number : 128 Question Id : 42558911012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gt - 1 eI - 1 ghfer
Tt -1 Tt - 11

H T
A, S I fedr=a gew
B. Torgert = . SH-FIHN
c. fmam n. fafsrs
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(1) A-I, B-IV, CI, D-l
(2) A-IV, B-lII, C-I, D-Il
3) AL B-III, C-1V, D-1
(4) A-II, B-L C-1V, D-I

Options :

42558942864. 1

42558942865. 2

42558942866. 3
42558942867. 4

Question Number : 129 Question Id : 42558911013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1 List-1I
Theories of Mountain Building Propounded by
A.  Geosynclinal orogen L. Daly
B.  Thermal contraction II. Holmes
C.  Sliding continent III. Jettreys
D.  Thermal convection IV. Kober

Choose the correct answer from the options given below :
(1) A-IV, B-1IL, C-[, D-11

(2) A-IV, B-1I, C-1II, D-1

(3) AL, B-II, C-1V, D-1

4) A-lL B-II, C-IV, D-1

Options :

42558942868. 1

42558942869. 2

42558942870. 3
42558942871. 4



Question Number : 129 Question Id : 42558911013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-IV,B-lI, C, D-11
(2) A-IV, B-II, C-1II, D-1
3) A, B-1I, C-IV, D-1
(4) A-IL B-1II, C-IV, D-1

Options :

42558942868. 1

42558942869. 2

42558942870. 3
42558942871. 4

Question Number : 130 Question Id : 42558911014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1 List- 11
Volcanos Countries
A. Hekla L. Equador
B. Cotapaxi IL USA
C. St Helens II. Iceland
D. Mt Mayon IV.  Phillppines

Choose the correct answer from the options given below :
(1)  A-lL B-IIIL C-11, D-IV

(2) A-L B-lI, C-II1, D-IV

(3) AL B-I, C-1V, D-II

(4) Al B-I, C-11, D-IV

Options :

42558942872. 1

42558942873. 2

42558942874. 3
42558942875. 4



Question Number : 130 Question Id : 42558911014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-lL B-IL C-I1, D-IV
(2) A-lL B, CII, D-IV
3) A, B-I, C-1V, D-1I
(4) A-II, B-L C-I1, D-IV

Options :

42558942872. 1

42558942873.2

42558942874. 3
42558942875. 4

Question Number : 131 Question Id : 42558911015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List-1 List - 11
Local Names of Tropical Cyclones Countries
A.  Hurricanes L. Philippines
B.  Taifu II. USA
C. Bagio [II.  Australia
D.  Willy willy IV. Japan

Choose the correct answer from the options given below :
(1)  A-lL B-II, C-I1, D-IV

(2) A-IV, B-1II, C-11, D-I

(3) AL B-1V, C-L, D-II

4) A-IL B-1V, C-I, D-III

Options :

42558942876. 1

42558942877. 2

42558942878. 3
42558942879. 4



Question Number : 131 Question Id : 42558911015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  A-L B-I, C-III, DIV
(2)  A-IV, B-II, C-II, D-I
() A-II, B-IV, C-I, D-I
(@)  A-IL B-1V, C-1, D-III
Options :

42558942876. 1
425589428717.2
42558942878. 3
42558942879. 4
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Question Number : 132 Question Id : 42558911016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

A.
B.

€L
D.

List-1

Components of Ecosystem
Photographs
Chemotrophs

Saprophytes

Parasites

L
IL

1L
IV.

List- 11

Related to

Which prepare food through chemosynthesis
Depends on organic components derived from dead
plants and animals

Depended on living organisms

Which prepare food through photosynthesis

Choose the correct answer from the options given below :

(1)
(2)
3)
)

A-l, B-IL, C-III, D-IV
A-1II, B-1I, C-1, D-IV
A-1IV, B-1, C-11, D-III
A-11, B-1V, C-II1, D-1

Options :

42558942880. 1
42558942881. 2
42558942882. 3
42558942883. 4



Question Number : 132 Question Id : 42558911016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  A-1, B-II, C-III, D-IV

(2)  A-II, B-I, C-I, D-IV

() A-IV, B-1, C-II, D-III

(4)  A-IL B-1V, C-1II, D-I
Options :

Tt -1

42558942880. 1
42558942881. 2
42558942882. 3
42558942883. 4

IL

III.
IV.

gt - 11

way

S T HIeT ¥ S $9R R ©

Ta aedl S gifordl | e Sifae see W AR
Sfifea Sirai W™ efea

S TERTY HYATO H WIS TR I E

Question Number : 133 Question Id : 42558911017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I :

Ofn=e

List - I

Local names of Grasslands
Pustaz

Pampas

Bush Veld

Downs

L
IL
1L
IV.

List- 11
Countries
Argentina
South Africa
Australia
Hungary

Choose the correct answer from the options given below :

1)
(2)
3)
)

A-1V, B-1, C-11, D-III
A-1, B-11, C-II1, D-IV
AT, B-11, C-1, D-1V
A-1L, B-1II, C-1IV, D-1

Options :

42558942884. 1
42558942885.2
42558942886. 3
42558942887. 4



Question Number : 133 Question Id : 42558911017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-IV, B-l, C-II, D-II
(2) A-lL B, CII, D-IV
3) A, B-1I, C-1, D-IV
(4) A-IL B-1II, C-IV, D-1

Options :

42558942884. 1

42558942885. 2

42558942886. 3
42558942887. 4

Question Number : 134 Question Id : 42558911018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1 List-1I
(Geographical Concept) (Geographer)
A.  Reine Geography L. Ratzel
B. Anthropological Geography IL Bowman
C.  Political Geography Ill. Busching
D.  Regional Geography IV. Hartshorne

Choose the correct answer from the options given below :
(1) A-I, B-11, C-1, D-IV

(2) A-I, B-1, C-1I, D-IV

(3) A-IV, B-1, C-11, D-I1I

4) A-IV, B-II, C-I, D-III

Options :

42558942888. 1

42558942889. 2

42558942890. 3
42558942891. 4



Question Number : 134 Question Id : 42558911018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-Il, B-II, C-I, D-IV
(2) A-II, B-I C-II, D-IV
3)  A-IV, B-l, C-11, D-III
(4) A-IV,B-II, C-I, D-II

Options :

42558942888. 1

42558942889. 2

42558942890. 3
42558942891. 4

Question Number : 135 Question Id : 42558911019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1 List- 11
Concept Geographer
A.  Zusammenhang L Schaefer
B. Kulturland schaft IL  Ritter
C. Genres de vie III. Schluter
D. Raison d’etre IV. Blache

Choose the correct answer from the options given below :
(1) A-IL B-III, C-1V, D-1

(2) A-IL B-1V, C-11I, D-I

(3)  A-L B-IIL C-1V, D-II

4) A-L B-IV, C-III, D-II

Options :

42558942892. 1

42558942893. 2

42558942894. 3
42558942895. 4



Question Number : 135 Question Id : 42558911019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-IL B-III, C-1V, D-1
(2) A-IL B-1V, C-111, D-1
3)  A-L B-IL C-1V, D-1I
(4) A-L B-IV, C-I1I, D-11

Options :

42558942892. 1

42558942893. 2

42558942894. 3
42558942895. 4

Question Number : 136 Question Id : 42558911020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1 List-1I
Theories Propounded by
A.  Progressive Wave Theory L. Holimann
B.  Stationary Wave Theory II. Willian Whewell
C.  Submarine Density Current Theory 1. W.M. Davis
D.  Turbidity Current Theory IV. R.A.Haris

Choose the correct answer from the options given below :
(1) A-IV, B-1II, C-1I, D-I

(2) A-IL B-1V, C-1, D-III

(3) AL B-1V, C-I, D-1

4) AL B, C-I1, D-IV

Options :

42558942896. 1

42558942897. 2

42558942898. 3
42558942899. 4



Question Number : 136 Question Id : 42558911020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-IV, B-lIl, C-I, D-1
(2) A-IL B-1V, C-L, D-III
3) A, B-1IV, C-L, D-1
(4) A-lL B-lI, CII, D-IV

Options :

42558942896. 1

42558942897.2

42558942898. 3
42558942899. 4

Question Number : 137 Question Id : 42558911021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1 List- 11
Fundamental Concept Theory
A.  Market Area L. Weber
B. Isodapane IL Losch
C. Isolate Estate III. David Smith
D.  Space Cost Curve IV. Von Thunen

Choose the correct answer from the options given below :
(1) A-IL B-I, C-1V, D-III

(2) A-L B-lI, C-II1, D-IV

(3) A-LL B-1, C-lII, D-IV

4) A-L B C-IV, D-III

Options :

42558942900. 1

42558942901. 2

42558942902. 3
42558942903. 4



Question Number : 137 Question Id : 42558911021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-IL B-1, C-IV, D-II
(2) A-lL B, C-II, D-IV
(3) A-IL B-1, C-1II, D-IV
(4) A-lL B-lI, C-IV, DI

Options :

42558942900. 1

42558942901. 2

42558942902 3
42558942903. 4

Question Number : 138 Question Id : 42558911022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List-1 List- 11

Author Name of Book
A.  G.T. Trewartha L. Geography of Population
B. H.S. Shryock IL. A Geography of Population: World Patterns
C.  John L Clarke [Il. The Methods and Materials of Demography
D. R.C.Chandna IV. Population Geography

Choose the correct answer from the options given below :
(1)  A-lL B-II, C-II, D-IV

(2) A-IL B-1II, C-1IV, D-1

(3) A, B-11, C-I, D-IV

4) Al B-L, C-1V, D-1I

Options :

42558942904. 1

42558942905. 2

42558942906. 3
42558942907. 4



Question Number : 138 Question Id : 42558911022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-lL B, CI1, D-IV
(2) A-IL B-1II, C-1V, D-1
(3) A-I, B-II, C-1, D-IV
(4) A-I, B-L C-1V, D-11

Options :

42558942904. 1

42558942905. 2

42558942906. 3
42558942907. 4

Question Number : 139 Question Id : 42558911023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I :

List - I List- 11
Glaciers Locations
A.  Siachen L. The Korakoram Range
B.  Sona pani IL.  The Pir Panjal Range
C.  Rong buk Ill. The Kanchenjunga-Everest Region
D. Mana IV. The Kumaon - Garhwal Region

Choose the correct answer from the options given below :
(1) A-IV, B-1II, C-II, D-1

(2) A-II, B-1IV, C-L, D-II

(3) AL B-1, C-IV, D-III

4) AL B, C-I1, D-IV

Options :

42558942908. 1

42558942909. 2

42558942910. 3
42558942911. 4



Question Number : 139 Question Id : 42558911023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-IV, B-lIl, C-I, D-1
(2) A-IIL, B-IV, C-, D-1I
3) AL B-I, G-IV, D-II
(4) A-lL B, CII, D-IV

Options :

42558942908. 1

42558942909. 2

42558942910. 3
42558942911. 4

Question Number : 140 Question Id : 42558911024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I :

List - I List- 11

Minerals Reserves
A.  Silver L. Koraput
B. Bauxite I. Zawar
C. Copper IlI. Ratnagiri
D.  Manganese IV. Balaghat

Choose the correct answer from the options given below :
(1) AL B-II, C-1V, D-III

(2) A-IL B-1, C-II1, D-IV

(3) A-L B-II, C-II, D-IV

4) AL B-1, C-IV, D-III

Options :

42558942912. 1

42558942913. 2

42558942914. 3
42558942915. 4



Question Number : 140 Question Id : 42558911024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-lL B, CIV, D-II
(2) A-IL B-1, C-II, D-IV
3 A-l, B, C-II, D-IV
4) A-IL B-I, C-IV, D-1lI

Options :

42558942912. 1

42558942913.2

42558942914. 3

42558942915. 4

Sub-Section Number : 2
Sub-Section Id : 425589435
Question Shuffling Allowed : No



Question Id : 42558911025 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Read the following passage and answer all the questions accordingly.

Tectonic forces are the primary factor that drives the dynamic processes that form the crust of the
Earth, which are referred to as earth movements. These movements can be classified into sudden and
slow processes. The phenomenon known as seismicity describes the existence of earthquakes, which are
caused by the movement of tectonic plates. The intensity of seismic activities are measured using the
Richter scale. Folding occurs when compressional forces act on rock layers, causing them to bend. This
process creates geological features such as anticlines and synclines. Faulting happens when stress exceeds
the strength of rocks, leading to fractures and displacement along fault lines. Types of faults include normal,
reverse, and strike-slip faults. Vulcancity involves the movement of magma from the Earth's interior to
the surface, resulting in volcanic eruptions. When it comes to volcanoes, there are three categories : active,
dormant, and extinct. In addition to having a significant impact on human activity, these earth movements
are also responsible for the formation of land forms.

Sub questions

Question Number : 141 Question Id : 42558911026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Why is the study of Earth movements crucial for human societies 7
(1) It helps determines land ownership based on geological shift
(2
3
4

It aids in predicting weather conditions and ocean currents

—

)
) It ensures that continental drift is reverse through technological advancements
)

It allows for better understanding and mitigation of natural hazards like earthquakes and
volcanic eruptions

Options :

42558942916. 1

42558942917.2

42558942918. 3

42558942919. 4

Question Number : 142 Question Id : 42558911027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the primary distinction between an active and dormant volcano ?
(1) Anactive volcano continuously erupt, while a dormant one never erupts again

(2) Adormantvolcano has erupted in the past but is currently inactive, where as an active volcano
erupts periodically or continuously
(3) A dormant volcano is characterised by shallow magna chambers, whereas an active volcano
has deep magma reservoirs
(4)  Active volcanoes are always found at tectonic plate boundaries, whereas dormant ones exist
within stable continental interiors
Options :
42558942920. 1
42558942921.2
42558942922. 3
42558942923. 4

Question Number : 143 Question Id : 42558911028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A reverse fault accrues when :

(1) The hanging wall moves upward

(2) The hanging wall moves downward
(3) The footwall moves downwards

(4) No movement accurs
Options :

42558942924. 1

42558942925.2

42558942926. 3
42558942927. 4

Question Number : 144 Question Id : 42558911029 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
What type of fault is created due to horizontal displacement of rock layers ?
(1) Normal fault
(2)  Strike - slip fault
(3) Reverse fault
(4) Owver thrust fault
Options :
42558942928. 1
42558942929. 2

42558942930. 3
42558942931. 4

Question Number : 145 Question Id : 42558911030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the primary cause of seismicity ?
(1) Magma movement

(2) Tidal forces

(3) Sudden release of energy along faults
(4) Folding of rock layers

Options :

42558942932. 1

42558942933.2

42558942934. 3
42558942935. 4



Question Id : 42558911025 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
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Sub questions

Question Number : 141 Question Id : 42558911026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Question Number : 142 Question Id : 42558911027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
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Sub-Section Number : 3
Sub-Section Id : 425589436
Question Shuffling Allowed : No



Question Id : 42558911031 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Read the following passage and answer all the questions accordingly.

Migration is a fundamental demographic process involving the movements of individuals or groups
from one geographical location to another, driven by economic, social, political, and environmental factors.
It can be categorized into voluntary and involuntary migration, internal and international migration, or
temporary and permanent migration. Economic opportunities, better living conditions, education, and
conflict are primary drivers of migration. Theories such as Ravenstein’s Laws of migration, Lee’s
Push-Pull Theory, and World System Theory explain migration pattern and motivations. Migration has
significant socio-economic impacts on both origin and destination regions. While receiving areas benefit
from labor supply and cultural diversity, challenges such as pressure on infrastructure, labor market
competition, and social integration arise. In contrast, source regions may experience brain drain or economic
loss but benefit from remittances sent by migrants. The concept of transnatonalism further highlights
how migrants maintain connections across borders. Migration policies world wide seek to balance economic
needs, national security, and humanitarian concerns, inﬂuencing global migration flows and their long-
term consequences.

Sub questions

Question Number : 146 Question Id : 42558911032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of involuntary migration ?
(1) Relocating for higher education

(2) Moving to another country for a job transfer

(3) Displacement due to armed conflict

(4) Shifting to a bigger city for better lifestyel

Options :
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Question Number : 147 Question Id : 42558911033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following best describes the phenomenon where migration leads to a decline in working
age population in the origin country ?
(1) Migration Selectivity
(2) Population transition
(3) Demographic inversion
(4) Ageing effect
Options :
42558942940. 1
42558942941. 2

42558942942. 3
42558942943. 4

Question Number : 148 Question Id : 42558911034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Lee’s Push-Pull. Theory, which of the following is NOT considered a “push factor” for
migration ?
(1) Political instability
(2) Employment opportunities
(3) Natural disasters
(4) War and conflict
Options :
42558942944, 1
42558942945. 2

42558942946. 3
42558942947. 4

Question Number : 149 Question Id : 42558911035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following best describes “remittance dependency” in migration studies ?
(1)  When migrants rely on financial aid from international Organisation
(2)  When host countries depend on foreign workers for economic growth
(3) When migrants are financially dependent on their employers abroad
(4) When home countries become heavily reliant on money sent by emigrants
Options :
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42558942949. 2
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Question Number : 150 Question Id : 42558911036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The concept of “brain drain” is most closely associated with which type of migration ?
(1) Circular migration

(2) Forced migration

(3) Skilled migration

(4) Seasonal migration
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